

Horst Bode Import-Export GmbH · Havighorster Weg 6 · D-21031 Hamburg · Bio-Rohstoffe aus aller Welt
 www.bode.bio · T +49 (0) 40 739 332 0 · info@bode.bio

End user price list - all prices exclusive of VAT
 Prices are not binding and may differ from the prices in the store

PRICELIST

Article No.	Description	Origin	Package	€: Unit	Article
New Products					
23412	<i>allspice milled organic</i>	GT, HN	25 kg in bag	46.34	1158.50
41250	<i>molasses from cane sugar organic 25kg</i>	PY	25 kg in bucket	2.95	73.75
22537	<i>raisins conventional</i>	UZ	12.50 kg in carton	3.31	41.38 51.75
13315	<i>oat drink concentrate organic Natumi 10x0,5l</i>		10 tetra pak à 0.5 l in carton	1.98	19.80
23605	<i>raspberry whole freeze dried organic</i>		8.0 kg bag in carton	87.89	703.12
40387	<i>soy beans organic Europe</i>	IT	5 kg in carton	2.79	13.95 15.95
40633	<i>allspice milled organic</i>	GT	1 kg in bag	22.74	22.74
76038	<i>assam broken "East Frisian" tea organic 300g</i>	IN	1 bag à 300 g	11.99	11.99
76016	<i>black cumin seeds whole organic 300g</i>	EG, SY	1 bag à 300 g	4.62	4.62 5.14
76027	<i>camomile tea organic 300g</i>	HR	1 bag à 300 g	11.49	11.49
76011	<i>caraway whole organic 300g</i>	EG	1 bag à 300 g	6.74	6.74 7.49
76008	<i>cardamom seeds whole without hull organic 300g</i>	TZ	1 bag à 300 g	32.39	32.39 35.99
76007	<i>cardamom with hull milled organic 300g</i>	DE	1 bag à 300 g	32.39	32.39 35.99
76017	<i>cinnamon milled Cassia organic 300g</i>	ID	1 bag à 300 g	8.09	8.09 8.99
76018	<i>cinnamon milled Ceylon organic 300g</i>	LK	1 bag à 300 g	8.99	8.99 9.99
76023	<i>cinnamon sticks (8-10cm) Ceylon organic 300g</i>	LK	1 bag à 300 g	11.69	11.69 12.99
76024	<i>coriander whole organic 300g</i>	EG	1 bag à 300 g	7.55	7.55 8.39
76010	<i>cumin milled organic 300g</i>	IN	1 bag à 300 g	9.89	9.89 10.99
76009	<i>cumin seed organic 300g</i>	IN	1 bag à 300 g	8.99	8.99 9.99
76021	<i>curry powder organic 300g</i>	DE	1 bag à 300 g	5.80	5.80 6.45
76037	<i>darjeeling tea organic 300g</i>	IN	1 bag à 300 g	11.10	11.10

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

New Products

76040	earl grey tea organic 300g	DE	1 bag à 300 g	12.85	12.85
76005	Fennel whole organic, sweet 300g	EG	1 bag à 300 g	8.09	8.09 8.99
76025	fennel-anise-caraway tea organic 300g	DE	1 bag à 300 g	4.66	4.66
76039	fruit tea blend organic 1kg	DE	1 bag à 300 g	9.89	9.89
76006	ginger milled - ginger powder organic 300g	IN	1 bag à 300 g	6.71	6.71 7.46
76036	green tea "China Chun Mee" organic 300g	CN	1 bag à 300 g	9.45	9.45
76022	herbs for pizza organic 300g	DE	1 bag à 300 g	8.09	8.09 8.99
76041	jasmine tea organic 300g		1 bag à 300 g	11.19	11.19
75053	mango strips organic 1kg	BF	1 bag à 1 kg	20.69	20.69
76026	mate green organic 300g	BR	1 bag à 300 g	8.39	8.39
76020	oregano rubbed organic 300g	GR	1 bag à 300 g	7.19	7.19 7.99
76012	paprika powder sweet organic 300g	ES	1 bag à 300 g	8.90	8.90 9.89
76014	pepper black milled organic 300g	ID	1 bag à 300 g	8.99	8.99 9.99
76013	pepper black whole organic 300g	VN	1 bag à 300 g	7.64	7.64 8.49
76028	peppermint tea organic 300g	DE	1 bag à 300 g	10.49	10.49
48077	pineapple rings dried premium organic 1kg	TG	1 kg in bag	23.99	23.99
76046	raspberry whole freeze dried organic 100g	BG	1 bag à 100 g	13.39	13.39
76045	raspberry whole freeze dried organic 300g	BG	1 bag à 300 g	30.29	30.29
76015	roasted onions organic 300g	NL	1 bag à 300 g	7.64	7.64 8.49
76044	rooibos tea organic fine cut 300g	ZA	1 bag à 300 g	8.49	8.49
76043	strawberry slices freeze-dried organic 100g	TR	1 bag à 100 g	10.39	10.39
76042	strawberry slices freeze-dried organic 300g	PL	1 bag à 300 g	26.79	26.79
75055	strawberry slices freeze-dried organic 500g		1 bag à 500 g	43.44	43.44
76019	thyme rubbed organic 300g	EG	1 bag à 300 g	6.74	6.74 7.49

Article No.	Description	Origin	Package	€: Unit	Article
Sales					
20416	<i>bulgur organic</i>	TR	25 kg in bag	1.97	49.25 54.75
20776	<i>cinnamon milled Cassia organic</i>	VN	25 kg in bag	8.01	200.25 222.50
20448	<i>kamut wheat organic</i>	CA	25 kg in bag	2.99	74.75 93.50
20939	<i>linseed brown organic processor quality</i>	IN	25 kg in bag	1.79	44.80 56.00
20418	<i>oat peeled organic</i>	DE	25 kg in bag	1.57	39.25 43.50
20317	<i>Ökoback Plus baking improver organic</i>	DE	25 kg in carton	5.59	139.75 174.75
20804	<i>peas green split organic</i>	IT	25 kg in bag	2.57	64.25 71.25
20378	<i>potato starch (flour) organic glutenfree</i>	LV, NL	25 kg in bag	3.71	92.75 103.00
21619	<i>sesame seed hulled organic</i>	PK	25 kg in bag	4.69	117.25 163.50
21639	<i>sesame seeds black natural organic</i>	BO	25 kg in bag	3.59	89.75 112.25
31040	<i>cartons external dimension 170x110x80</i>		20 pieces in bundle	0.30	6.00 9.00
12129	<i>oat cream for cooking organic Natumi 15x200ml</i>	AT	15 tetra pak à 200 ml in carton	1.12	16.80 17.85
12109	<i>soy cream organic</i>	AT	15 tetra pak à 200 ml in carton	1.08	16.20 17.10
22476	<i>pecannut kernels broken organic</i>	MX, US	13.61 kg in carton	13.59	184.96 231.23
22502	<i>pineapple rings Premium organic</i>	TG	10 kg in carton	18.94	189.40 210.40
22539	<i>sultanas organic</i>	IR, UZ	10 kg in carton	5.91	59.13 65.70
23216	<i>tomato cubes 10-11mm organic</i>	TR	10 kg in carton	7.19	71.92 89.90
21050	<i>tomato halves dried organic</i>	TR	10 kg in carton	7.95	79.52 99.40
23219	<i>tomato slices dried organic</i>	TR	10 kg in carton	7.31	73.10 91.40
21002	<i>apple puree without sugar organic 6x700g</i>	DE	6 glasses in carton	2.02	12.12 13.44
41408	<i>banana chips sweetened organic, garden compostable bag 6x250g</i>	PH	6 bags à 250 g in carton	2.13	12.78 13.14
40252	<i>millet organic 6x500g</i>	UA	6 bags à 500 g in carton	1.88	11.28 12.54
22839	<i>shoyu organic soy sauce</i>	CN	6 bottles à 500 ml in carton	5.08	30.48 33.84
36030	<i>spice shaker metall</i>		6 can in carton	0.67	4.02 5.70

Article No.	Description	Origin	Package	€: Unit	Article
Sales					
42504	<i>sultanas organic</i>	UZ	6 bags à 1 kg in carton	6.65	39.91 44.34
40242	<i>sultanas organic gardencompostable bag 6x500g</i>	UZ	6 bags à 500 g in carton	3.55	21.28 23.64
40684	<i>vanilla Bourbon milled organic</i>	MG	6 cans à 30 g in carton	10.52	63.12 70.14
22302	<i>Worcestershire sauce organic</i>	DE	6 litre in carton	7.49	44.94 112.50
25004	<i>barberry raw organic</i>	IR	5 kg in carton	13.09	65.45 72.70
48021	<i>chickpeas 7 mm organic</i>	TR	5 kg in paper bag	3.77	18.85 20.45
21939	<i>gummy bear small organic</i>	DE	5 kg in carton	12.82	64.10 71.20
48003	<i>lentils black organic (Beluga)</i>	DE	5 kg in paper bag	6.49	32.45 33.45
42665	<i>lentils brown organic (green, Laird)</i>	TR	5 kg in paper bag	5.70	28.50 28.95
40559	<i>lentils red organic</i>	TR	5 kg in paper bag	3.93	19.65 21.85
40385	<i>lupines white whole organic 5kg Germany</i>	DE	5 kg in paper bag	5.73	28.65 29.70
21948	<i>peanuts in chocolate organic</i>	NL	5 kg in carton	18.09	90.45 95.20
48008	<i>White beans organic</i>	AR, TR	5 kg in paper bag	5.42	27.10 27.70
20111	<i>apricot fruit spread organic 3kg bucket</i>		3 kg in bucket	6.59	19.77 24.72
21652	<i>belgian speculoos organic</i>	BE	3 kg in carton	17.10	51.30 60.36
21756	<i>marzipan balls "potatos" organic 2kg</i>	DE	3 kg in carton	24.48	73.44 86.67
76940	<i>almond butter white organic</i>	NL	1 glass à 250 g	6.38	6.38 7.19
75044	<i>almond flour organic 1kg (ground almonds)</i>	ES	1 bag à 1 kg	18.46	18.46 20.09
70079	<i>almond puree brown organic</i>	NL	1 glass à 250 g	6.41	6.41 7.39
75043	<i>almonds blanched organic 1kg</i>	ES	1 bag à 1 kg	17.36	17.36 18.49
42475	<i>almonds julienne organic 1kg</i>	ES	1 kg in bag	18.41	18.41 19.25
40696	<i>anise milled organic</i>	TR	1 kg in bag	17.66	17.66 19.04
75040	<i>apple rings organic 1kg</i>		1 bag à 1 kg	22.17	22.17 24.19
75041	<i>barberry raw food quality organic 700g</i>	IR	1 bag à 700 g	15.11	15.11 16.79

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Sales

76937	cashew nut butter organic	NL	1 glass à 250 g	6.50	6.50 7.29
42663	cashew pieces big organic	VN	1 bag à 1 kg	13.89	13.89 14.54
75039	coconut, grated, desiccated, medium organic 1kg		1 bag à 1 kg	9.32	9.32 11.09
40155	cornflakes light coloured organic	IT	1 kg in bag	6.46	6.46 7.46
70854	Cornflower honey creamy organic Bioland Germany Blütenmeer Imkerei 500g	DE	1 glass à 500 g	8.34	8.34 9.09
71168	crunchy basic (oat, rice) organic	DE	1 bag à 1 kg	6.92	6.92 7.24
72716	dates pitted Deglet Nour organic 1kg	TN	1 bag à 1 kg	8.59	8.59 9.14
75042	figs organic 1kg		1 bag à 1 kg	14.76	14.76 15.64
75032	goji berries organic 1kg	CN	1 bag à 1 kg	18.59	18.59 19.24
75049	hazelnut kernels blanched organic 1kg	TR	1 bag à 1 kg	19.70	19.70 21.74
75047	hazelnut kernels ground roasted organic 1kg	TR	1 bag à 1 kg	18.20	18.20 18.79
75030	hempseed hulled organic 1kg	EE	1 bag à 1 kg	15.33	15.33 15.88
22530	medjool dates organic (2kg)	IL	1 kg in bag	14.28	14.28 14.85
71111	muesli basic organic	DE	1 bag à 1 kg	4.00	4.00 4.34
75033	mulberries dried organic 1kg		1 bag à 1 kg	12.62	12.62 13.14
75026	pecan nut organic 1kg	MX	1 bag à 1 kg	25.04	25.04 27.29
75050	pecan nut pieces organic 1kg	MX	1 bag à 1 kg	23.36	23.36 27.34
42720	pistachios green with skin organic 1kg	TR, US	1 kg in bag	55.98	55.98 56.64
71644	pumpkin seeds dark green organic eastern Europe 1kg	PL	1 bag à 1 kg	12.26	12.26 12.64
76941	sesame butter (Tahin) organic 100% sesame	NL	1 glass à 250 g	3.71	3.71 3.99
72839	shoyu organic soy sauce	CN	1 bottle à 500 ml	5.25	5.25 5.84
72504	Sultanas organic 1kg	UZ	1 bag à 1 kg	6.79	6.79 7.54
42507	Tomato halves dried organic	TR	1 bag à 1 kg in carton	14.23	14.23 15.29
70290	turmeric ground organic 250g	IN	1 bag à 250 g	4.28	4.28 4.76

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Sales

70684	<i>vanilla Bourbon milled organic</i>	MG	1 can à 30 g	13.31	13.31 14.79
40900	<i>vanilla Bourbon milled organic</i>	MG	1 bag à 300 g	89.99	89.99 99.99
48045	<i>vanilla pod Bourbon organic</i>	MG	1 kg in bag	199.00	199.00 400.00

Alcoholic Drinks

22718	<i>Advocaat organic</i>	DE	25 litre in can	24.44	611.00
22754	<i>kirsch organic</i>	CH, DE	5 litre in can	33.99	169.95
21368	<i>Organic amaretto liqueur 28% 25l</i>	DE	5 litre in can	19.14	95.70
23439	<i>rum brown organic 5ltr</i>	DE	5 litre in can	24.29	121.45

Article No.	Description	Origin	Package	€: Unit	Article
Cereals					
20511	4-cereal-flakes-mixture organic		25 kg in bag	2.65	66.25
20401	amaranth organic	IN	25 kg in bag	3.88	97.00
20501	barley flakes organic	AT	25 kg in bag	1.94	48.50
20407	barley hulled polished organic	AT	25 kg in bag	2.14	53.50
20554	Basmati rice white organic	PK	25 kg in bag	3.99	99.75
20553	Basmati rice whole grain organic	IN	25 kg in bag	3.33	83.25
23351	buckwheat Europe organic	UA	25 kg in bag	3.74	93.50
23352	buckwheat flour glutenfree organic	LT	25 kg in bag	3.34	83.50
20404	buckwheat groats organic	LT	25 kg in bag	3.49	87.25
20402	buckwheat hulled organic	CN	25 kg in bag	3.04	76.00
20830	buckwheat roasted organic	NL, UA	25 kg in bag	4.34	108.50
23357	corn flour glutenfree organic	PL	25 kg in bag	2.69	67.25
20415	corn for popcorn organic	TR	25 kg in bag	3.29	82.25
20550	corn semolina (Polenta) organic	AT	25 kg in bag	2.49	62.25
20414	couscous whole grain (precooked semolina) organic	IT	25 kg in bag	2.94	73.50
20532	durum wheat semolina whole grain organic	IT	25 kg in bag	2.59	64.75
20603	einkorn wheat organic	AT	25 kg in bag	2.89	72.25
20602	emmer wheat organic 25kg	AT	25 kg in bag	2.89	72.25
20426	fragrant rice white organic	IT	25 kg in bag	4.14	103.50
20427	long grain rice parboiled organic	IN	25 kg in bag	3.29	82.25
20569	millet brown organic	DE	25 kg in bag	2.84	71.00
20510	millet flour organic	AT	25 kg in bag	2.54	63.50
20431	millet groats organic Europe	AT, PL	25 kg in bag	1.94	48.50
20420	millet organic	UA	25 kg in bag	2.60	65.00
23617	naked oat organic	DE	25 kg in bag	2.77	69.25
20503	oat flakes fine organic	DK, FI, UA	25 kg in bag	2.14	53.50
23360	oatflakes fine organic glutenfree	DK	25 kg in bag	2.58	64.50
20574	organic durum wheat semolina	IT	25 kg in bag	2.59	64.75
23262	quinoa black organic	BO	25 kg in bag	6.48	162.00
23261	quinoa red organic	PE	25 kg in bag	5.69	142.25
20417	quinoa white organic	BO	25 kg in bag	5.34	133.50
20539	rice flour whole grain glutenfree organic	IT	25 kg in bag	3.72	93.00
20567	rice Jasmin white organic	KH	25 kg in bag	4.09	102.25
20568	rice Jasmin whole grain organic	KH	25 kg in bag	3.93	98.25
20422	rice long grain white organic	PK	25 kg in bag	2.98	74.50
20421	rice long grain whole grain organic	IN, PK	25 kg in bag	3.09	77.25
20562	rice longrain (black venus) organic	IT	25 kg in bag	7.29	182.25
20446	rice red organic	KH	25 kg in bag	4.89	122.25

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Cereals

20423	rice round grain wholegrain organic	IT	25 kg in bag	3.79	94.75
20424	rice white round grain organic	FR, IT	25 kg in bag	3.27	81.75
20648	risotto rice white organic Italy		25 kg in bag	5.64	141.00
20507	rye flakes organic	AT	25 kg in bag	1.49	37.25
20585	rye flour type 1150 organic	DE	25 kg in bag	1.34	33.50
20515	rye flour whole grain organic	DE	25 kg in bag	1.35	33.75
20430	rye organic	DE	25 kg in bag	1.29	32.25
20519	spelt flour type 630 organic	DE	25 kg in bag	2.29	57.25
20517	spelt flour whole grain organic	DE	25 kg in bag	2.19	54.75
20405	spelt organic	DE	25 kg in bag	1.99	49.75
20618	teff flour organic I currently not available until new harvest September 2024		25 kg in bag	5.94	148.50
20527	unripe spelt grain organic	DE	25 kg in bag	4.34	108.50
20509	wheat flakes organic	AT	25 kg in bag	1.54	38.50
20647	wheat flour typ 550 Bioland organic 25kg	DE	25 kg in bag	1.85	46.25
20504	wheat flour type 1050 organic	DE	25 kg in bag	1.53	38.25
20525	wheat flour type 550 organic	DE	25 kg in bag	1.65	41.25
20508	wheat flour whole grain organic	DE	25 kg in bag	1.04	26.00
20432	wheat organic	DE	25 kg in bag	1.24	31.00
20336	wheat starch powder organic	IT	25 kg in bag	2.49	62.25
20436	wild rice organic Canada 25kg	CA	25 kg in bag	23.09	577.25
20604	buckwheat flakes organic	LT	20 kg in bag	5.46	109.20
20506	millet flakes organic	UA	20 kg in bag	3.34	66.80
20505	oat flakes large organic	UA	20 kg in bag	2.04	40.80
20530	rice flakes whole grain organic	IT	20 kg in bag	3.24	64.80
23550	rice protein powder white organic	CN	20 kg in bag	12.14	242.80
20502	spelt flakes organic	DE	20 kg in bag	2.14	42.80
20541	wheat bran organic	DE	20 kg in bag	1.76	35.20
23400	quinoa flakes soft organic	BO	15 kg in bag	9.49	142.35
21384	quinoa Tricolore organic	DE	12.50 kg in bag	7.29	91.13
20445	rice mix organic (long grain rice, red rice, black rice, wild rice)	DE	12.50 kg in bag	4.09	51.13
40587	buckwheat hulled organic gardencompostable bag 6x500g	CN	6 bags à 500 g in carton	2.64	15.84
40253	couscous whole grain organic 6x500g	IT	6 bags à 500 g in carton	1.94	11.64
40412	naked oat organic 6x500g	CZ, DE	6 bags à 500 g in carton	2.49	14.94
40517	oat flakes coarse organic 6x1kg	UA	6 bags à 1 kg in carton	2.99	17.94
40365	oat flakes coarse organic 6x500g	UA	6 bags à 500 g in carton	1.84	11.04
40516	oat flakes fine organic 6x1kg	FI	6 bags à 1 kg in carton	2.86	17.16
40233	oat flakes fine organic 6x500g	FI	6 bags à 500 g in carton	1.94	11.64

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Cereals

48013	<i>organic quinoa red</i>	BO, PE	6 bags à 500 g in carton	5.19	31.14
40275	<i>quinoa Tricolore organic 6x250g</i>	DE	6 bags à 250 g in carton	2.89	17.34
40254	<i>quinoa white organic</i>	BO	6 bags à 500 g in carton	4.94	29.64
40477	<i>quinoa white organic 6x1kg</i>	BO	6 bags à 1 kg in carton	8.69	52.14
40258	<i>rice Basmati white organic 6x500g</i>	PK	6 bags à 500 g in carton	3.09	18.54
40257	<i>rice Basmati whole grain organ ic 6x500g</i>	IN	6 bags à 500 g in carton	2.74	16.44
40256	<i>rice for risotto white Carnaroli organic 6x500g</i>	IT	6 bags à 500 g in carton	3.94	23.64
40255	<i>rice Jasmin white organic 6x500g</i>	KH	6 bags à 500 g in carton	3.09	18.54
40445	<i>rice round grain whole grain organic 6x500g</i>	IT	6 bags à 500 g in carton	2.49	14.94
40232	<i>spelt flakes organic 6x500g</i>	AT	6 bags à 500 g in carton	2.24	13.44
40406	<i>spelt organic 6x500g</i>	AT	6 bags à 500 g in carton	2.04	12.24
40549	<i>buckwheat flour organic</i>	LT	5 kg in paper bag	4.74	23.70
40554	<i>buckwheat hulled organic</i>	CN	5 kg in paper bag	3.53	17.65
40520	<i>bulgur organic 5kg</i>	TR	5 kg in carton	3.19	15.95
40531	<i>corn semolina (Polenta) organic</i>	AT	5 kg in paper bag	2.99	14.95
40208	<i>couscous whole grain (precooked semolina) organic</i>	IT	5 kg in carton	4.09	20.45
40065	<i>durum wheat semolina whole grain organic 5kg</i>	IT	5 kg in carton	3.09	15.45
42909	<i>millet flakes organic</i>	UA	5 kg in carton	6.07	30.35
40562	<i>millet organic</i>	UA	5 kg in carton	3.74	18.70
40185	<i>oat flakes fine organic</i>	FI	5 kg in carton	2.99	14.95
40186	<i>oat flakes large organic</i>	UA	5 kg in carton	2.84	14.20
48030	<i>Quinoa Tricolore organic</i>	DE	5 kg in paper bag	7.69	38.45
40419	<i>quinoa white organic</i>	BO	5 kg in paper bag	8.39	41.95
40800	<i>rice Basmati white organic 5kg</i>	PK	5 kg in carton	4.66	23.30
20673	<i>rice flour organic</i>	IT	5 kg in carton	4.52	22.60
40381	<i>rice Jasmin white organic</i>	KH	5 kg in carton	4.66	23.30
40801	<i>rice longgrain whole</i>	IN	5 kg in paper bag	4.01	20.05
42664	<i>rice white round grain organic</i>	FR	5 kg in paper bag	4.02	20.10
40190	<i>risotto rice white organic Italy</i>	IT	5 kg in carton	5.98	29.90
40567	<i>unripe spelt grain organic</i>	DE	5 kg in paper bag	5.99	29.95
76944	<i>quinoa White organic 1kg</i>	BO	1 bag à 1 kg	10.99	10.99
40437	<i>wild rice organic 1kg</i>	CA	1 kg in unit	25.99	25.99

Article No.	Description	Origin	Package	€: Unit	Article
Coffee & Tea & Cocoa					
20304	cocoa powder 10-12% fat organic 25kg not alcalized (cacao)	PL	25 kg in bag	20.59	514.75
20663	cocoa powder 20-22% fat organic 25kg (cacao)	NL	25 kg in bag	22.99	574.75
23431	jasmine tea organic	DE	20 kg in carton	29.09	581.80
23370	organic mate green coarse cut	BR	20 kg in bag	17.69	353.80
23382	Organic Peppermint leaves broken	EG	20,0 kg in bag	11.44	228.80
23389	darjeeling tea FTGFOP1 organic	DE, IN	18 kg in bag	28.54	513.72
23200	rooibos tea organic fine cut	ZA	18.00 kg in bag	19.34	348.12
23385	green tea "China Chun Mee" organic	CN	17 kg in bag	19.50	331.50
23422	earl grey tea organic	DE	15 kg in bag	18.89	283.35
23396	assam broken "east frisian" tea organic	DE	14 kg in bag	22.24	311.36
23381	camomile tea organic	HR	13 kg in carton	30.39	395.07
20906	coffee ground Fairtrade Naturland Mount Hagen organic 12x500g	DE	12 bags à 500 g in carton	9.99	119.88
20937	Coffee Barista Crema whole beans organic Naturland Fairtrade Mount Hagen 12x500g	DE	6 bags à 500 g in carton	10.74	64.44
20917	coffee beans whole roasted Fairtrade Naturland Mount Hagen organic 6x1kg	DE	6 bags à 1 kg in carton	21.64	129.84
20907	coffee instant Fairtrade Naturland Mount Hagen organic 6x100g	DE	6 glasses à 100 g in carton	6.59	39.54
20938	Espresso Beans Barista organic Naturland Fairtrade Mount Hagen 12x500g	DE	6 bags à 500 g in carton	11.14	66.84
20903	Espresso beans milled Fairtrade Naturland Mount Hagen organic 6x250g softpack	DE	6 bags à 250 g in carton	5.69	34.14
23383	nettle leaves, cut organic	HU	6 kg in bag	21.99	131.94
40317	cacao powder 10-12% fat organic 5kg	PL	5 kg in carton	23.69	118.45
45728	herbal tea "good morning" with maté and jasmine tea organic 5kg	DE	5 kg in carton	21.94	109.70
43017	assam broken east frisian tea organic 1kg	DE	1 kg in unit	30.39	30.39
43010	camomile tea organic 1kg	HR	1 kg in unit	33.99	33.99
43001	darjeeling tea FTGFOP1 1kg	DE, IN	1 kg in unit	30.79	30.79
43020	earl grey tea organic 1kg	DE	1 kg in unit	41.20	41.20
43011	fennel-anise-caraway tea organic 1kg	DE	1 kg in unit	11.21	11.21
43050	fruit tea blend organic 1kg	DE	1 kg in unit	20.54	20.54
43057	green tea "China Chun Mee" organic 1kg	CN	1 kg in unit	18.84	18.84
45727	herbal tea "good morning" with mate and jasmine tea organic 1kg	DE	1 kg in unit	23.44	23.44
43103	jasmine tea organic 1kg	CN, DE	1 kg in unit	34.07	34.07
43056	mate green organic 1kg	BR	1 kg in unit	20.59	20.59
40651	nettle tea organic 1kg	HU	1 kg in unit	25.74	25.74
43005	peppermint tea organic 1kg	EG	1 kg in unit	19.20	19.20

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Coffee & Tea & Cocoa

43061	<i>rooibos tea organic 1kg fine cut</i>	ZA	1 kg in unit	21.84	21.84
--------------	---	----	--------------	-------	--------------

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Detergents

40495	<i>soda baking soda (sodium hydrogen carbonate) 5kg</i>	TR	5 kg in carton	3.64	18.20
40389	<i>sodium bicarbonate</i>	TR	1 kg in bag	4.69	4.69

Article No.	Description	Origin	Package	€: Unit	Article
Dried Fruit					
22307	coconut chips roasted unsweetened organic	LK	25 kg in carton	8.65	216.25
20366	coconut desiccated fine organic	LK	25 kg in bag	7.64	191.00
20652	coconut desiccated medium raw organic	LK	25 kg in bag	8.24	206.00
20323	coconut, grated, desiccated, medium organic	LK	25 kg in bag	7.69	192.25
22673	physalis (golden berries) whole dried organic	PE	25 kg in carton	18.54	463.50
22623	apple dices 5-10mm without peel organic	CZ, IT	21.0 kg bag in carton	17.24	362.04
21106	ginger cubes crystallized organic	CN	20 kg in carton	6.89	137.80
21227	ginger sticks crystallized organic	CN	20 kg in carton	8.74	174.80
22654	goji berries dried organic	CN	20 kg in carton	12.99	259.80
21738	goji berries dried small organic	CN	20 kg in carton	13.69	273.80
22615	pineapple tidbits organic	TG	16 kg in carton	16.04	256.64
22757	sour cherry pieces freeze dried organic	PL	15 kg in carton	65.19	977.85
22547	raspberry semolina freeze- dried organic	CN, DE	14.0 kg in carton	74.94	1049.16
21741	apple dices 5-10mm without peel organic		13.0 kg in carton	16.64	216.32
22758	red currant freeze dried organic	PL	13 kg in carton	44.09	573.17
22556	currants organic	GR	12.50 kg in carton	8.29	103.63
22585	figs Protoben organic	TR	12.50 kg in carton	14.09	176.13
23334	plums pitted 30/40 organic	FR	12.50 kg in carton	12.19	152.38
23584	mango dices dried without rice flour organic	BF	12 kg in carton	11.99	143.88
22549	mango slices organic	BF	12 kg in carton	16.19	194.28
22550	mango stripes organic	BF	12 kg in carton	16.49	197.88
22644	apple cubes with skin crispy organic	MD	10 kg in bag	14.79	147.90
22620	apricot cubes dried organic	UZ	10 kg in carton	12.99	129.90
22509	apricots organic	TR, UZ	10.0 kg in carton	16.79	167.90
22659	banana chunks dried organic	LK	10 kg in carton	6.29	62.90
22299	banana coins/ slices dried organic	LK	10 kg in carton	6.74	67.40
23452	banana pieces organic	LK	10 kg in carton	6.99	69.90
23426	blueberries sweetened with apple juice concentrate organic	RS	10 kg in carton	37.49	374.90
23323	chokeberries organic	PL	10 kg in carton	9.21	92.10
22315	coconut chips not roasted unsweetened organic		10 kg in carton	9.20	92.00
20516	Coconut flour organic	LK	10 kg in bag	2.79	27.90
22180	coconut stripes organic raw "smile"		10 kg in carton	8.39	83.90
23583	date cubes dried organic	PK	10 kg in carton	4.09	40.90
22528	dates pitted Deglet Nour organic	TN	10 kg in carton	7.79	77.90
22599	dates pitted processors quality organic	PK	10 kg in carton	2.99	29.90
22621	fig cubes dried organic	TR	10 kg in carton	8.14	81.40
22667	figs "spanish golden" organic	ES	10 kg in carton	9.24	92.40
22563	figs clipped whole no. 8/9 organic	TR	10 kg in carton	9.84	98.40

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Dried Fruit

22561	<i>figs Lerida organic</i>	TR	10 kg in carton	13.79	137.90
22624	<i>fruit cubes mix organic</i>	DE	10 kg in carton	9.99	99.90
22613	<i>mango dices dried organic</i>	BF	10 kg in carton	10.84	108.40
22300	<i>mini bananas dried organic</i>	LK	10 kg in carton	7.44	74.40
22643	<i>mini figs organic</i>	IR	10 kg in carton	14.79	147.90
22639	<i>papaya cubes organic</i>		10 kg in carton	16.54	165.40
22601	<i>pineapple dices dried organic</i>	TG	10 kg in carton	18.84	188.40
20655	<i>pineapple rings raw organic</i>		10 kg in carton	25.39	253.90
22630	<i>plum cubes 5-7 mm organic</i>	UZ	10 kg in carton	8.04	80.40
22555	<i>Plums pitted 40/50/60 organic</i>	BG, UZ	10 kg in carton	9.76	97.60
22542	<i>raisins organic</i>	AR	10 kg in carton	6.05	60.50
22311	<i>banana chips broken sweetened organic</i>	PH	8.16 kg in carton	5.54	45.21
22641	<i>apple rings organic</i>		8 kg in carton	21.79	174.32
22572	<i>cherries sour dried pitted organic</i>	UZ	8 kg in carton	18.04	144.32
22298	<i>bananachips salted organic</i>		6.35 kg in carton	5.59	35.50
22305	<i>bananachips sweetened organic</i>	PH	6.35 kg in carton	6.24	39.62
22306	<i>bananachips unsweetend organic</i>	PH	6.35 kg in carton	5.79	36.77
41412	<i>apricots organic gardencompostable bag 6x500g</i>	UZ	6 bags à 500 g in carton	9.49	56.94
42313	<i>banana chips sweetened organic 6x500g</i>	PH	6 bags à 500 g in carton	4.24	25.44
42315	<i>banana chips unsweetened organic 6x250g</i>	PH	6 bags à 250 g in carton	2.14	12.84
41410	<i>barberry organic 6x150g</i>	IR	6 bags à 150 g in carton	3.84	23.04
42329	<i>coconut chips not roasted and unsweetend organic</i>	LK, PH	6 bags à 250 g in carton	2.69	16.14
40269	<i>coconut chips roasted and unsweetened organic</i>	LK	6 bags à 250 g in carton	2.99	17.94
40366	<i>coconut desiccated organic</i>	LK	6 bags à 200 g in carton	2.59	15.54
40887	<i>coconut stripes (smile) raw organic 6x150g</i>		6 bags à 150 g in carton	1.89	11.34
41683	<i>Cranberry sweetened organic</i>		6 bags à 125 g in carton	3.27	19.62
42506	<i>dates Medjool organic 6x500g</i>		6 bags à 500 g in carton	7.14	42.84
42716	<i>dates pitted Deglet Nour organic 6x1kg</i>		6 bags à 1 kg in carton	7.94	47.64
40267	<i>dates pitted Deglet Nour organic 6x250g</i>	TN	6 bags à 250 g in carton	3.10	18.60
41411	<i>dates pitted Deglet Nour organic gardencompostable bag 6x500g</i>	TN	6 bags à 500 g in carton	3.94	23.64
40243	<i>figs dried organic 6x500g</i>	TR	6 bags à 500 g in carton	8.29	49.74
42698	<i>figs spanish golden figs organic</i>	ES	6 bags à 250 g in carton	2.99	17.94
41659	<i>goji berries organic</i>	CN	6 bags à 100 g in carton	2.54	15.24
42562	<i>mango slices organic 6x125g</i>	BF	6 bags à 125 g in carton	3.05	18.30
40278	<i>mango stripes organic 6x200g</i>		6 bags à 200 g in carton	4.14	24.84
23430	<i>mulberries black organic</i>	TR	6 kg in carton	10.54	63.24
40277	<i>mulberries dried white organic</i>		6 bags à 200 g in carton	3.44	20.64
22672	<i>mulberries light dried organic</i>	TR	6 kg in carton	12.69	76.14

Article No.	Description	Origin	Package	€: Unit	Article
Dried Fruit					
42702	<i>physalis (golden berries) dried organic</i>	PE	6 bags à 125 g in carton	2.99	17.94
42590	<i>pineapple rings premium organic 6x250g</i>	TG	6 bags à 250 g in carton	6.69	40.14
42531	<i>plums pitted 33/44 organic 6x250g</i>	FR	6 bags à 250 g in carton	3.74	22.44
42554	<i>plums pitted 33/44 organic 6x500g</i>	FR	6 bags à 500 g in carton	8.39	50.34
42558	<i>raisins dark organic</i>	AR	6 bags à 500 g in carton	3.89	23.34
40565	<i>apple rings organic 5kg</i>		5 kg in carton	21.99	109.95
40338	<i>coconut, grated, desiccated, medium organic</i>	LK	5 kg in carton	8.54	42.70
22662	<i>date cubes dried without rice flour organic</i>	TN	5 kg in carton	4.69	23.45
22501	<i>dates medjool organic</i>	PS	5 kg in carton	13.49	67.45
40492	<i>ginger cubes crystallized organic China 5kg</i>	CN	5 kg in carton	7.69	38.45
40126	<i>physalis (golden berries) whole dried organic</i>		5 kg in carton	19.09	95.45
22536	<i>plums pitted 30/40 Premium organic France</i>	FR	5 kg in carton	13.89	69.45
22582	<i>apple chips red paring organic</i>	MD	4 kg in carton	20.27	81.08
40489	<i>banana coins/ slices dried organic 2,5kg</i>	LK	2.50 kg in bag	8.59	21.48
40490	<i>mini bananas dried organic 2,5kg</i>	LK	2.50 kg in bag	7.69	19.23
40487	<i>mango dices dried without rice flour organic 2kg</i>	BF	2 kg in bag	13.39	26.78
40484	<i>mango slices organic 2kg</i>		2 kg in bag	19.29	38.58
40483	<i>mango stripes organic 2kg</i>	BF	2 kg in bag	17.84	35.68
22544	<i>strawberry pieces freeze-dried organic</i>	TR	2 kg in carton	84.99	169.98
22688	<i>strawberry slices freeze-dried 5 mm organic</i>		2 kg in carton	83.25	166.50
40162	<i>apple chips red paring organic</i>		1 kg in carton	28.03	28.03
75035	<i>cherries sour dried pitted organic 1kg</i>		1 bag à 1 kg	23.29	23.29
40892	<i>chokeberry organic 1kg</i>	PL	1 kg in unit	12.14	12.14
75038	<i>coconut chips roasted unsweetened organic 800g</i>	LK	1 bag à 800 g	9.59	9.59
75037	<i>cranberries sweetened with apple juice organic 1kg</i>		1 bag à 1 kg	16.95	16.95
75034	<i>physalis (golden berries) whole dried organic 1kg</i>		1 bag à 1 kg	19.19	19.19
48027	<i>strawberries freeze-dried 2-10mm organic 1kg</i>	TR	1 kg in carton	85.99	85.99

Article No.	Description	Origin	Package	€: Unit	Article
Kitchen & Production					
23274	agar agar organic	ES	25 kg in bag	54.49	1362.25
23600	arrow root powder organic		25 kg in bag	6.69	167.25
20653	baking powder organic 25kg	DE	25 kg in bag	6.49	162.25
20750	baking yeast organic gluten free 25x7g BioVegan	DE	25 bags à 7 g in carton	0.99	24.75
20935	Barley malt flour active organic	DE	25 kg in bag	3.04	76.00
20529	breadcrumbs wheat whole grain organic	DE	25 kg in bag	3.54	88.50
20345	carob powder organic	IT	25 kg in bag	4.44	111.00
23336	chocolate sprinkles 1,9mm organic	DE	25 kg in carton	18.49	462.25
23279	coconut fat organic desodor.	DE, NL	25 kg in carton	7.09	177.25
20844	corn starch cold swelling organic	AT	25 kg in bag	5.15	128.75
20312	corn starch white glutenfree organic	RO	25 kg in bag	2.94	73.50
21732	Crystal salt fine pink	PK	25 kg in bag	1.64	41.00
21739	Crystall salt pink coarse organic	PK	25 kg in bag	1.64	41.00
20537	guar flour organic	PK	25 kg in bag	3.49	87.25
20522	locust bean gum organic	IT	25 kg in carton	29.99	749.75
20308	milk powder minimum 26% fat organic	NL	25 kg in bag	10.34	258.50
23264	Ökoback spelt 3% Bioland organic	DE	25 kg in bag	9.34	233.50
23369	organic vegetable broth herbal with organic yeast extract	DE	25 kg in bag	12.14	303.50
12215	palm fat organic	DE, NL	25 kg in carton	5.79	144.75
20599	roasted rye malt 400-700 organic	DE	25 kg in bag	4.54	113.50
21717	sea salt coarse naturally 1-mm	HR, IT	25 kg in bag	1.39	34.75
21704	sea salt fine (Atlantic)	NL, PT	25 kg in bag	1.11	27.75
21711	sea salt fine natural	DE, HR	25 kg in bag	0.89	22.25
21730	sea salt no. 2, all-natural	GR, HR	25 kg in bag	1.49	37.25
20348	sodium bicarbonate	DE, TR	25 kg in bag	2.29	57.25
21718	stone salt all-natural 25kg	DE	25 kg in bag	1.04	26.00
20360	tartar baking powder with organic corn starch 25kg	DE	25 kg in bag	6.73	168.25
22804	vegetables broth 25kg	DE	25 kg in bag	7.69	192.25
26012	wheat gluten organic Europe	IT	25 kg in bag	8.34	208.50
12254	"Florentiner" mix organic	DE	20 kg in bag	12.19	243.80
20627	chestnut flour organic	IT	20 kg in bag	9.84	196.80
20773	chocolate drops (dark chocolate) 18mm, organic		20 kg in carton	31.44	628.80
20774	chocolate drops (whole milk) 10mm, organic	BE	20 kg in carton	30.29	605.80
23277	cocoa nibs unroasted organic (cacao)	PE	20 kg in carton	29.94	598.80
22809	gomasio organic	NL	20 kg in bag	11.04	220.80
21100	potato flakes (mash instant) organic 20kg	PL	20 kg in carton	9.34	186.80
22803	yeast-flakes	DE	20 kg in bag	14.74	294.80
20331	couverture drops dark 5-7 mm organic	DE, GH	15 kg in carton	24.99	374.85
20303	couverture white chocolate organic	IT	15 kg in carton	24.29	364.35

Article No.	Description	Origin	Package	€: Unit	Article
Kitchen & Production					
20329	<i>fudge ("Fondant") organic</i>	DE	15 kg in carton	5.60	84.00
20609	<i>dekor substance (sugar like "snow") organic</i>	DE	12.50 kg in bag	14.59	182.38
20357	<i>egg white powder organic</i>	NL	12.50 kg in bag	50.39	629.88
20358	<i>egg yolk powder organic</i>	NL	12.50 kg in bag	35.04	438.00
12238	<i>juice binder organic</i>	DE	12.50 kg in bag	6.19	77.38
20321	<i>marzipan sweetend with honey organic</i>	DE	12.50 kg in carton	14.74	184.25
20330	<i>marzipan sweetened with raw cane sugar organic</i>	DE	12.50 kg in carton	13.09	163.63
20766	<i>Organic vegetable stock, free of yeast Bio Vegan 25kg</i>	DE	12.50 kg in carton	10.69	133.63
21220	<i>chopped tomatoes organic</i>	IT	12 cans à 400 g in Tray	1.19	14.28
91342	<i>coconut milk organic FairTrade</i>	LK	12 cans à 400 ml in carton	1.99	23.88
48043	<i>Organic vegetable broth, free of yeast</i>	DE	12 glasses à 250 g in carton	3.94	47.28
21049	<i>strained tomatoes organic 12x680g (passata)</i>	IT	12 bottles à 680 g in carton	2.27	27.24
21221	<i>tomatoes peeled 400g tins organic</i>	IT	12 cans à 400 g in carton	1.49	17.88
21055	<i>dark olives without stones in saltwater organic</i>		11 kg in tin	10.29	113.19
21180	<i>olives dark chopped in saltwater organic</i>		11 kg in tin	10.74	118.14
21179	<i>olives green chopped organic in saltwater</i>	GR	11 kg in tin	11.74	129.14
21056	<i>olives green pitted in saltwater organic</i>	GR	11 kg in tin	10.09	110.99
40592	<i>"Florentiner" mix organic 10x500g</i>	DE	10 bags à 500 g in carton	7.59	75.90
22808	<i>apple vinegar organic</i>	DE	10 litre in can	2.73	27.30
12303	<i>baking margarine block organic with rape seed oil without palmoil</i>	DE	10 kg in carton	6.79	67.90
12222	<i>baking margarine Fauser 10kg block organic</i>	DE	10 kg in carton	5.59	55.90
23429	<i>barley malt extract organic</i>	DE	10 kg in can	8.74	87.40
12246	<i>butter 10kg block BIOLAND organic</i>	DE	10 kg in carton	15.39	153.90
12248	<i>butter 10kg block organic</i>	NL	10 kg in carton	16.74	167.40
12243	<i>butter concentrated organic</i>	DE	10 kg in carton	22.34	223.40
12249	<i>butter in 20kg bar organic</i>	NL	10 kg in carton	17.34	173.40
20319	<i>candied lemon peel organic</i>	NL	10 kg in carton	10.49	104.90
22268	<i>chickpeas fusilli organic</i>	IT	10 kg in bag	9.84	98.40
20624	<i>chocolate sticks organic 50% cocoa</i>	GH	10 kg in carton	26.29	262.90
20302	<i>couverture dark chocolate organic 701% cocoa, 2.5kg bar</i>	DE, GH	10 kg (4x2,5kg bar) in carton	29.34	293.40
23520	<i>date paste organic</i>	TN	10 kg in carton	5.14	51.40
13648	<i>Gouda cheese grated organic 5x2kg</i>	AT	10 kg in carton	13.74	137.40
23427	<i>malt yeastflakes organic</i>		10 kg in bag	26.79	267.90
12220	<i>margarine in thin 10kg bars Fauser organic</i>	BE, DE	10 kg in carton	9.29	92.90
12208	<i>margarine in thin 10kg bars zero palm organic</i>	AT	10 kg in foil	8.44	84.40

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Kitchen & Production

20318	<i>orange peel candied 6mm organic</i>	NL	10 kg in carton	10.69	106.90
22263	<i>organic farfalle light</i>	IT	10 kg in bag	3.34	33.40
22265	<i>pasta multigrain organic</i>	IT	10 kg in bag	9.49	94.90
22266	<i>pasta penne brown rice organic gluten free</i>	IT	10 kg in bag	12.49	124.90
22267	<i>pasta penne corn organic gluten free</i>	IT	10 kg in bag	7.94	79.40
22272	<i>Pasta penne organic</i>	IT	10 kg in bag	5.34	53.40
22271	<i>Pasta penne spelt wholemeal organic</i>	IT	10 kg in bag	5.14	51.40
22234	<i>pasta penne wholemeal flour organic</i>	IT	10 kg in bag	3.19	31.90
22273	<i>pasta shells organic</i>	IT	10 kg in carton	3.19	31.90
22249	<i>penne organic</i>	IT	10 kg in bag	3.24	32.40
22269	<i>red lentils strozzapreti organic gluten free</i>	IT	10 kg in carton	10.49	104.90
23513	<i>Risoni organic, pasta in rice-size</i>	IT	10 kg in bag	3.44	34.40
21703	<i>rock salt with organic herbs organic</i>	DE	10 kg in bucket	7.79	77.90
21097	<i>soy T.V.P. chunks fine organic</i>	FR, NL	10 kg in bag	8.59	85.90
21164	<i>soy T.V.P. chunks organic</i>	NL	10 kg in carton	7.59	75.90
22233	<i>spaghetti pasta organic</i>	IT	10 kg in carton	3.74	37.40
22270	<i>spaghetti wholemeal organic</i>	IT	10 kg in carton	3.04	30.40
22237	<i>spirelli pasta organic</i>	IT	10 kg in bag	3.36	33.60
22236	<i>spirelli wholemeal pasta organic</i>	IT	10 kg in bag	3.63	36.30
21318	<i>sunflower oil cold-pressed organic</i>	BG	10 litre in can	4.19	41.90
21335	<i>sunflower oil deodorised organic</i>	FR	10 litre in can	4.44	44.40
21764	<i>tomato passata bag in box organic 10kg (passata)</i>	IT	10 kg bag in box	2.19	21.90
12231	<i>Vitax separation fat resinfree organic</i>	DE	10 litre in can	7.39	73.90
20775	<i>white chocolate drops 10 mm organic</i>	BE	10 kg in bag	30.54	305.40
21099	<i>potato flakes (mash instant) organic 8kg</i>	AT	8 kg in carton	12.49	99.92
21337	<i>coconut oil virgin organic</i>	PH	6 glasses à 1 l in carton	12.99	77.94
21026	<i>corn in glasses organic</i>	DE	6 glasses à 330 g in carton	2.17	13.02
40324	<i>corn starch white organic 6x1kg</i>	RO	6 bags à 1 kg in carton	4.44	26.64
48023	<i>Crystal salt pink fine 6x1kg</i>	PK	6 bags à 1 kg in carton	3.04	18.24
21017	<i>gherkins organic</i>	DE	6 glasses à 670 g in carton	5.43	32.58
20764	<i>ketchup with apple juice organic</i>	DE	6 bottles à 500 ml in carton	3.04	18.24
22319	<i>Mugi Miso paste organic</i>	NL	6 bags à 345 g in carton	5.99	35.94
41706	<i>sea salt fine natural</i>	DE	6 bags à 1 kg in carton	2.34	14.04
21068	<i>tomato ketchup organic</i>	DE	6 bottles à 500 ml in carton	3.09	18.54
21046	<i>tomato puree, 22% concentrated, Zwergenwiese (glass) organic</i>	DE	6 glasses à 200 g in carton	2.04	12.24

Article No.	Description	Origin	Package	€: Unit	Article
Kitchen & Production					
21084	tomato sauce "Napoli" organic 6x340ml Zwergenwiese	DE	6 glasses à 340 g in carton	2.84	17.04
21418	tomato sauce Bolognese with lentils organic 6x340ml Zwergenwiese	DE	6 glasses à 350 ml in carton	2.74	16.44
21069	tomato sauce vegetarian Bolognese organic 6x340ml Zwergenwiese	DE	6 glasses à 350 g in carton	2.74	16.44
40772	vanilla sugar organic	DE	6 cans à 100 g in carton	4.49	26.94
21057	balsamic vinegar dark organic	IT	5 litre in can	6.32	31.60
40358	chocolate sticks organic	GH	5 kg in carton	26.29	131.45
21058	condimento bianco - light vinegar organic	IT	5 litre in can	8.41	42.05
42661	corn starch white organic	RO	5 kg in paper bag	3.84	19.20
40148	couverture drops dark 3-5 mm organic 5kg	DE	5 kg in carton	27.39	136.95
20314	custard powder Bourbon vanilla organic	DE	5 kg in carton	15.49	77.45
48052	Gomasio - roasted sesame with seasalt organic	NL	5 kg in carton	11.84	59.20
22213	lasagna pasta organic	IT	5 kg in carton	4.84	24.20
22813	mustard organic	DE	5 kg in bucket	6.89	34.45
21357	Olive oil extra virgin organic Greece I Now EU-BIO, favoured flavour remains	GR	5 litre in can	17.29	86.45
21360	olive oil nativ extra organic	TN	5 litre in can	11.29	56.45
21331	organic sunflower oil deodorised linoleic	FR	5 litre in can	4.79	23.95
42662	potato starch (flour) organic	LV	5 kg in paper bag	5.14	25.70
49991	quinestrone carrot/leek 5kg I conventional	DE	5 kg in carton	4.44	22.20
22728	quinestrone carrot/leek organic 5kg (mixture for hotpot)		5 kg in carton	8.49	42.45
21352	rape seed oil deodorized organic	FR	5 litre in can	5.80	29.00
21326	rape seed oil nativ organic 5l canister	FR	5 litre in can	4.69	23.45
21061	red wine vinegar organic	IT	5 litre in can	4.07	20.35
22810	shoyu organic	CN, NL	5 litre in can	5.44	27.20
22835	Tamari organic (without wheat)	CN	5 litre in can	9.19	45.95
21027	tomato ketchup organic	DE	5 kg in bucket	8.99	44.95
40547	wheat gluten organic	DE	5 kg in carton	9.09	45.45
21059	white vine vinegar organic	IT	5 litre in can	3.04	15.20
41999	Organic vegetable stock, free of yeast	DE	4 kg in carton	12.04	48.16
41216	vegetables broth 4kg	DE	4 kg in carton	8.09	32.36
23265	lemon peel paste 3kg KAROW organic	DE	3 kg in bucket	25.04	75.12
23266	orange peel paste organic Karow 3kg		3 kg in bucket	23.59	70.77
20320	baking ferment "Backferment" Sekowa glutenfree organic	DE	2.50 kg in unit	20.79	51.98
20557	carob gum organic	IT	2.50 kg in carton	34.99	87.48
20301	couverture milk chocolate organic 35% cocoa 2.5kg bar	DE	2.50 kg in bag	20.99	52.48
20315	nut nougat, with raw cane sugar organic	DE	2.50 kg in carton	25.79	64.48
40789	Acerola powder, 17% Vitamin C organic	DE	1 bag à 500 g	40.39	40.39

Article No.	Description	Origin	Package	€: Unit	Article
Kitchen & Production					
40798	agar agar organic 1kg	ES	1 kg in bag	73.82	73.82
20347	apple pectin 2:1	DE	1 kg in bag	45.89	45.89
21053	apple puree without sugar organic 4,3kg	DE	1 can à 4.30 kg	11.99	11.99
21235	apple sauce lightly sweetened (canned) organic 4.3kg	IT	1 can à 4.30 kg	16.29	16.29
21075	apple slices/segment, drained weight: 4,05kg organic	IT	1 can à 4.60 kg	16.54	16.54
23149	aroma lemon organic	DE	1 bottle à 1.20 kg	25.34	25.34
40790	baking powder organic 1kg		1 kg in a bag	9.54	9.54
40722	baking soda with organic cornstarch	DE	1 kg in bag	7.69	7.69
20751	baking yeast dried organic Biovegan	DE	1 bag à 390 g	48.24	48.24
21276	carott slices Marschland drained weight: 5,3kg organic	DE	1 can à 9.70 kg	25.74	25.74
27002	chickpeas drained weight: 1,5kg organic	IT	1 can à 2.60 kg	9.99	9.99
40856	chocolate sprinkles organic 1kg	DE	1 kg in unit	21.69	21.69
40874	cocoa nibs raw organic 1kg (cacao)	PE	1 kg in unit	35.92	35.92
21342	coconut milk organic		1 tin à 400 g	1.99	1.99
21344	coconut milk organic		1 can à 2.9 kg	15.52	15.52
78086	coconut oil virgin organic	PH	1 glass à 1 l	12.99	12.99
21020	corn in tins drained weight: 2,8kg organic	DE	1 can à 2.90 kg	14.44	14.44
70325	corn starch white organic 1kg	RO	1 bag à 1 kg	5.94	5.94
78023	Crystal salt pink fine 1kg	PK	1 bag à 1 kg	4.99	4.99
21736	dark olives without stones in saltwater organic	GR	1 canister à 5.50 kg	27.64	27.64
40344	gelantine leaves organic 1kg	DE	1 kg in carton	40.99	40.99
40329	gelantine powder organic	DE	1 kg in carton	35.99	35.99
21010	gherkin organic	DE	1 can à 9.70 kg	27.04	27.04
40351	glaze transparent organic	DE	1 kg in unit	47.19	47.19
21261	green pepper rings in brine organic	TR	1 can à 4,10 kg	18.89	18.89
40346	guar flour organic	PK	1 bag à 1 kg	9.69	9.69
21273	mandarin-oranges, drained weight: 1,68kg organic	CN	1 can à 3 kg	17.69	17.69
20674	mango puree organic	CO, DE	1 can à 3kg	20.24	20.24
21015	peaches halves in tins organic	IT	1 can à 4.23 kg	23.64	23.64
21021	pears halves in tins (drained weight: 2,8kg) organic	IT	1 can à 4.20 kg	30.79	30.79
21082	pineapple pieces in tins organic	LK	1 can à 3 kg	17.89	17.89
21290	red pepper whole in brine drained weight: 1,75kg organic	TR	1 can à 4 kg	13.49	13.49
21006	sourn cherries pitted in tins organic	TR	1 can à 4.60 kg	25.84	25.84
21349	strained tomatoes organic 2,5kg (passata)	IT	1 can à 2.50 kg	7.43	7.43
21195	tomato chunks organic	IT	1 can à 2.50 kg	6.64	6.64
21060	tomato purée organic	IT	1 can à 4.50 kg	24.19	24.19
21033	tomatoes hulled in tin organic	IT	1 can à 2.50 kg	7.50	7.50
23148	vanilla bourbon aroma organic 1,2l	DE	1 bottle à 1.2 kg	41.29	41.29
40716	vanilla sugar organic	DE	1 bag à 1kg	35.49	35.49

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Kitchen & Production

70700	<i>vanilla sugar organic</i>	DE	1 can à 100 g	8.09	8.09
--------------	------------------------------	----	---------------	------	-------------

milk alternatives

20842	<i>oat drink powder organic</i>	DE	20 kg in bag	13.74	274.80
12125	<i>"Barista" oat drink unsweetened organic Natumi</i>	AT	8 tetra pak à 1 l in carton	2.19	17.52
12107	<i>oat drink unsweetened organic</i>	AT	8 tetra pak à 1 l in carton	2.32	18.56
12105	<i>rice drink natural unsweetened organic</i>	AT	8 tetra pak à 1 l in carton	2.26	18.08
12101	<i>soy drink natural unsweetened organic</i>	AT	8 tetra pak à 1 l in carton	1.64	13.12
40482	<i>oat drink powder organic</i>	DE	6 bags à 800 g in carton	12.80	76.80
40479	<i>oat drink powder organic</i>	DE	5 kg in carton	15.25	76.25
70482	<i>oat drink powder organic</i>	DE	1 bag à 800 g	15.69	15.69

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Muesli & Co.

21177	<i>crunchy apple-cinnamon (oat, wheat) organic</i>	DE	25 kg in bag	6.64	166.00
22831	<i>crunchy fruit (oat) organic</i>		25 kg in bag	6.04	151.00
21102	<i>crunchy honey-sesame (oat) organic</i>	DE	25 kg in bag	6.79	169.75
23447	<i>crunchy nut (oat) organic 25kg</i>	DE	25 kg in bag	6.69	167.25
21222	<i>crunchy spelt organic</i>	DE	25 kg in bag	5.14	128.50
41211	<i>muesli "Bircher" organic</i>	DE	25 kg in bag	4.14	103.50
27047	<i>muesli basic organic</i>	DE	25 kg in bag	2.89	72.25
28012	<i>muesli berry organic</i>		25 kg in bag	4.49	112.25
20829	<i>muesli blueberry organic</i>	DE	25 kg in bag	5.59	139.75
27054	<i>muesli fruit organic</i>	DE	25 kg in bag	3.44	86.00
27053	<i>muesli nut organic</i>	DE	25 kg in bag	4.19	104.75
20799	<i>muesli vital organic</i>	DE	25 kg in bag	3.39	84.75
21134	<i>muesli without raisins organic</i>	DE	25 kg in bag	2.54	63.50
21411	<i>Better Crunchy - Cherry Berry organic</i>	DE	20 kg in bag	8.59	171.80
21412	<i>Better Crunchy Crispy Nuts organics</i>	DE	20 kg in bag	8.69	173.80
21181	<i>chocolate cornflakes organic</i>	DE	20 kg in bag	10.24	204.80
27019	<i>crunchy chocolate (oat, rice) organic</i>	DE	20 kg in bag	6.79	135.80
21121	<i>crunchy chocolate pure (oat, spelt) organic</i>	DE	20 kg in bag	7.99	159.80
21118	<i>crunchy oatflakes (oat, rice) organic</i>	DE	20 kg in bag	5.84	116.80
27018	<i>crunchy strawberry (oat) organic</i>	DE	20 kg in bag	7.04	140.80
27046	<i>muesli chocolate organic</i>	DE	20 kg in bag	4.54	90.80
27033	<i>muesli low carb / high protein organic</i>	DE	20 kg in bag	5.19	103.80
20797	<i>muesli spelt with fruits organic</i>		20 kg in bag	6.29	125.80
20012	<i>Porridge apple cinnamon with quinoa organic</i>	DE	20 kg in bag	5.09	101.80
27031	<i>Quinoa porridge berry tigernut organic</i>	DE	20 kg in bag	5.44	108.80
27027	<i>Quinoa porridge chia vanilla organic</i>	DE	20 kg in bag	6.94	138.80
20104	<i>spelt puffs with honey organic</i>	DE	20 kg in bag	6.84	136.80
21397	<i>Organic Better Crunchy - Oat & Date Sugar</i>	AT	16 kg in bag	7.34	117.44
21140	<i>amaranth puffs organic</i>	DE	15 kg in bag	7.60	114.00
23524	<i>buckwheat puffs organic</i>		15 kg in bag	7.79	116.85
21260	<i>quinoa puffs organic</i>		15 kg in bag	11.14	167.10
23293	<i>spelt puffs unsweetened organic</i>	DE	15 kg in bag	5.89	88.35
21119	<i>crunchy snack (oat) organic</i>	DE	12.50 kg in bag	6.74	84.25
21110	<i>muesli basic organic</i>		12.50 kg in bag	2.89	36.13
28013	<i>muesli berry organic 12,5kg</i>		12.50 kg in bag	4.84	60.50
21133	<i>muesli chocolate organic</i>		12.50 kg in bag	4.69	58.63
21113	<i>muesli fruit organic</i>	DE	12.50 kg in bag	3.59	44.88
21108	<i>muesli nut organic</i>	DE	12.50 kg in bag	4.29	53.63
21217	<i>muesli spelt with fruits organic</i>		12.50 kg in bag	6.39	79.88

Article No.	Description	Origin	Package	€: Unit	Article
Muesli & Co.					
21127	<i>muesli vital organic</i>	DE	12.50 kg in bag	3.64	45.50
21132	<i>cornflakes wholemeal organic</i>	DE	10 kg in bag	6.94	69.40
21139	<i>crisps chocolate organic</i>	FR	10 kg in carton	6.34	63.40
23633	<i>crispy buckwheat flakes organic</i>	FR	10 kg in carton	9.44	94.40
20547	<i>crispy spelt flakes organic</i>	DE	10 kg in bag	6.34	63.40
27012	<i>Superfood-Mix chia & berries organic</i>		10 kg in carton	10.14	101.40
21103	<i>cornflakes light coloured organic</i>	IT	7 kg in bag	6.88	48.16
40284	<i>amaranth puffs organic</i>	DE	6 bags à 150 g in carton	1.79	10.74
41102	<i>cornflakes wholemeal organic</i>	DE	6 bags à 200 g in carton	2.14	12.84
41168	<i>crunchy basic (oat, rice) organic</i>	DE	6 bags à 1 kg in carton	7.04	42.24
21120	<i>crunchy chocolate (oat, rice) organic</i>	DE	6 kg in carton	7.59	45.54
21224	<i>crunchy spelt with cranberries organic</i>	DE	6 kg in carton	6.89	41.34
41111	<i>muesli basic organic 1kg</i>	DE	6 bags à 1 kg in carton	3.99	23.94
40286	<i>muesli berry organic garden compostable bag 6x375g</i>	DE	6 bags à 500 g in carton	3.25	19.50
40280	<i>muesli chocolate organic 500g</i>	DE	6 bags à 500 g in carton	3.24	19.44
40235	<i>muesli fruit organic 500g</i>	DE	6 bags à 500 g in carton	2.64	15.84
40236	<i>muesli low carb / high protein organic</i>	DE	6 bags à 500 g in carton	3.84	23.04
40234	<i>muesli nut organic 500g</i>	DE	6 bags à 500 g in carton	3.04	18.24
40264	<i>Quinoa porridge berry tigernut organic</i>	DE	6 bags à 400 g in carton	2.99	17.94
40480	<i>Better Crunchy - Cherry Berry organic</i>	DE	5 kg in carton	9.74	48.70
48039	<i>crispy buckwheat flakes organic</i>	FR	5 kg in carton	9.79	48.95
21178	<i>crunchy apple-cinnamon (oat, wheat) organic</i>	DE	5 kg in carton	7.44	37.20
40205	<i>crunchy nut (oat) organic 5kg</i>	DE	5 kg in carton	7.89	39.45
40395	<i>crunchy oatflakes (oat, rice) organic 5kg</i>	DE	5 kg in carton	7.03	35.15
21143	<i>crunchy strawberry (oat) organic</i>	DE	5 kg in carton	8.09	40.45
40167	<i>muesli chocolate organic 5kg</i>		5 kg in carton	5.79	28.95
40478	<i>muesli fruit organic 5kg</i>	DE	5 kg in carton	4.59	22.95
40375	<i>Organic Better Crunchy - Oat & Date Sugar</i>	AT	5 kg in carton	8.39	41.95

Nonalcoholic Drinks

22320	<i>lemon juice organic Beutelsbacher 6x0,7l</i>	DE	6 bottles à 700 ml in box	3.99	23.94
--------------	---	----	---------------------------	------	--------------

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

non-foods

33099	<i>bread mould with baking paper capsules</i>	DE	100 piece	0.60	60.00
--------------	---	----	-----------	------	--------------

Article No.	Description	Origin	Package	€: Unit	Article
Nut & Fruit & Seedmix					
27069	<i>nut kernel mixture organic</i>	DE	25 kg in bag	14.24	356.00
27066	<i>coffee kick nut-fruit mix espresso organic</i>	DE	12.50 kg in bag	12.04	150.50
21398	<i>Confetti Nibble - nut fruit chocolate mix organic</i>	DE	12.50 kg in bag	14.59	182.38
27072	<i>luxury life - macadamia nut-fruit-mix without raisins organic</i>	DE	12.50 kg in bag	13.69	171.13
27026	<i>nut & fruit mix superfood organic</i>		12.50 kg in bag	12.99	162.38
21354	<i>nut fruit mixture (dried grapes, mulberries, brazil nuts, cashew kernels) organic</i>	DE	12.50 kg in bag	11.14	139.25
21116	<i>nut kernel mixture organic 12,5kg</i>	DE	12.50 kg in bag	15.25	190.63
22760	<i>nut kernel pieces mix organic</i>	DE	12.50kg in bag	13.34	166.75
27030	<i>salad & muesli topping - seed mix organic</i>		12.50 kg in bag	8.14	101.75
21126	<i>trail mix organic 12,5kg</i>	DE	12.50 kg in bag	9.44	118.00
21413	<i>berry dream - berry mix organic 10kg</i>	DE	10 kg in bag	8.09	80.90
41414	<i>berry dream - berry mix organic 6x250g</i>		6 bags à 250 g in carton	2.79	16.74
41675	<i>coffee kick - nut-fruit mix espresso organic</i>	DE	6 bags à 200 g in carton	3.14	18.84
41405	<i>Confetti Nibble - nut fruit chocolate mix organic gardencompostable bag 6x175g</i>		6 bags à 175 g in carton	2.89	17.34
41686	<i>luxury life - macadamia nut-fruit-mix without raisins organic</i>	DE	6 bags à 175 g in carton	3.04	18.24
41674	<i>nut & fruit mix superfood organic</i>		6 bags à 200 g in carton	3.29	19.74
41685	<i>nut fruit mixture organic</i>		6 bags à 175 g in carton	2.64	15.84
41146	<i>nut kernel mix organic</i>	DE	6 bags à 500 g in carton	8.70	52.20
40272	<i>nut kernel mix organic</i>	DE	6 bags à 250 g in carton	4.53	27.18
40271	<i>trail mix organic</i>	DE	6 bags à 250 g in carton	3.04	18.24
40760	<i>trail mix organic 1kg</i>	DE	6 bags à 1 kg in carton	10.49	62.94
41127	<i>trail mix organic 500g</i>	DE	6 bags à 500 g in carton	5.79	34.74
40270	<i>trail mix with cranberries organic 250g</i>	DE	6 bags à 250 g in carton	3.24	19.44
41398	<i>Confetti Nibble - nut fruit chocolate mix organic</i>	DE	5 kg in carton	14.14	70.70
40173	<i>nut & fruit mix superfood organic 5kg</i>		5 kg in carton	13.62	68.10
21283	<i>nut kernel mixture organic 5kg</i>	DE	5 kg in carton	16.54	82.70
42762	<i>nut kernel pieces mix organic</i>	DE	5 kg in carton	15.14	75.70
40172	<i>trail mix organic 5kg</i>	DE	5 kg in carton	9.99	49.95
40171	<i>trail mix with cranberries organic 5kg</i>	DE	5 kg in carton	11.49	57.45
75029	<i>nut & fruit mix superfood organic 1kg</i>		1 bag à 1 kg	15.71	15.71
72528	<i>nut fruit mixture organic 1kg</i>		1 bag à 1 kg	12.14	12.14
42761	<i>nut kernel pieces mix organic</i>	DE	1 kg in bag	16.49	16.49
70326	<i>trail mix organic 1kg</i>	DE	1 bag à 1 kg	14.71	14.71

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Nuts

22505	almonds bitter organic for producers only	IT	25 kg in bag	13.39	334.75
22407	almonds blanched organic	ES	25 kg in bag	15.44	386.00
22448	almonds brown Jumbo sweet premium organic	ES	25 kg in bag	14.54	363.50
22414	almonds brown organic	ES	25 kg in bag	13.90	347.50
21635	apricot kernels bitter organic for producers	PK	25 kg in bag	11.14	278.50
21636	apricot kernels sweet organic processor quality	PK	25 kg in bag	12.84	321.00
22419	hazelnut kernels 13-15mm organic	GE, TR	25 kg in carton	18.42	460.50
22477	hazelnut kernels 9-11mm organic	TR	25 kg in bag	13.15	328.75
22499	hazelnut kernels blanched organic		25 kg in carton	17.24	431.00
22413	hazelnut kernels organic	TR	25 kg in bag	17.39	434.75
22462	peanut kernels blanched unroasted organic	CN	25 kg in bag	4.89	122.25
22409	peanut kernels with skin raw organic	CN	25 kg in bag	5.39	134.75
22684	pistachios green with skin organic	TR	25 kg in bag	51.49	1287.25
23499	tigernuts peeled organic	BF	25 kg in carton	10.69	267.25
22401	cashew grits organic	CI	22.68 kg in carton	9.69	219.77
22463	cashew kernels 240 organic	GW	22.68 kg in carton	14.84	336.57
22472	cashew kernels 320 organic	CI, VN	22.68 kg in carton	12.99	294.61
22446	cashew kernels 400-450 organic	GH, GW, VN	22.68 kg in carton	13.39	303.69
22475	cashew nuts halves organic	GH, NG, VN	22.68 kg in carton	11.73	266.04
22451	cashew pieces large organic	BR, CI, VN	22.68 kg in carton	12.19	276.47
22459	cashew pieces SP/SSP organic	BR, CI, GH	22.68 kg in carton	11.39	258.33
22687	cashewkernels roasted and salted organic	VN	22.68 kg in carton	15.89	360.39
22732	cashewkernels roasted salted with chili organic	VN	20 kg in carton	15.84	316.80
22434	pistachios roasted and salted in shell organic	US	20 kg in carton	23.59	471.80
23269	tigernut flour organic	BF	20 kg in carton	9.99	199.80
21750	brazil nut pieces organic	BO	19.96 kg in carton	23.69	472.85
22498	brazil nuts organic	BO	19.96 kg in carton	28.84	575.65
23338	pecan nut halves organic	MX	13.61 kg in carton	23.14	314.94
22455	pistachios green organic	TR	12.50 kg in carton	64.99	812.38
22439	macadamia nuts raw organic (Style 1)	KE	11.34 kg in carton	28.56	323.87
22420	almond flour organic	ES	10 kg in carton	16.63	166.30
22433	almonds chopped organic	ES	10 kg in carton	15.44	154.40
22423	almonds sliced organic	ES	10 kg in carton	18.15	181.50
22408	almonds slivered organic	ES	10 kg in carton	15.44	154.40
22438	hazelnut kernels chopped roasted organic	TR	10 kg in carton	16.46	164.60
22435	hazelnut kernels milled roasted organic	TR	10 kg in carton	15.43	154.30

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Nuts

22417	<i>pine nuts organic</i>	RU	10 kg in carton	31.49	314.90
22436	<i>walnut kernels Light Halves Europe organic</i>	MD, UA	10 kg in carton	13.10	131.00
22496	<i>Walnut Light Broken organic Europe</i>	MD, UA	10 kg in carton	11.29	112.90
22479	<i>Walnuts Light Amber Broken Europe Organic</i>	MD, UA	10 kg in carton	10.19	101.90
41671	<i>almonds blanched organic</i>	ES	6 bags à 200 g in carton	4.09	24.54
41672	<i>almonds brown organic</i>	ES	6 bags à 200 g in carton	3.73	22.38
42440	<i>almonds brown organic 500g</i>	ES	6 bags à 500 g in carton	8.12	48.72
42457	<i>almonds chopped organic 100g</i>	ES	6 bags à 100 g in carton	2.34	14.04
42461	<i>almonds milled organic 100g</i>	ES	6 bags à 100 g in carton	1.99	11.94
42455	<i>almonds shaved organic 100g</i>	ES	6 bags à 100 g in carton	2.30	13.80
42451	<i>brazil nut organic</i>	BO	6 bags à 500 g in carton	15.44	92.64
41673	<i>brazil nut organic 200g</i>	BO	6 bags à 200 g in carton	6.99	41.94
41688	<i>cashew kernels organic</i>	GW	6 bags à 200 g in carton	3.49	20.94
42683	<i>cashew kernels organic 500g</i>	VN	6 bags à 500 g in carton	7.99	47.94
41689	<i>cashew pieces organic</i>	BR	6 bags à 200 g in carton	3.04	18.24
40078	<i>cashewkernels roasted and salted organic 6x150g</i>	VN	6 bags à 150 g in carton	3.04	18.24
42732	<i>cashewkernels roasted salted with chili organic 6x150g</i>	VN	6 bags à 150 g in carton	3.09	18.54
42456	<i>hazelnut kernels chopped and roasted organic 100g</i>	TR	6 bags à 100 g in carton	2.24	13.44
42458	<i>hazelnut kernels milled roasted organic 100g</i>	TR	6 bags à 100 g in carton	2.04	12.24
42438	<i>hazelnut kernels organic</i>	TR	6 bags à 500 g in carton	8.44	50.64
41670	<i>hazelnuts organic</i>	TR	6 bags à 200 g in carton	3.64	21.84
40230	<i>macadamia nuts raw organic</i>	KE	6 bags à 100 g in carton	4.14	24.84
40231	<i>pecan nut halves organic</i>	US	6 bags à 100 g in carton	3.43	20.58
41658	<i>pine nuts organic 100g</i>	RU	6 bags à 100 g in carton	4.65	27.90
40578	<i>pistachios green organic gardencompostable bag 6x100g</i>	TR	6 bags à 100 g in carton	6.54	39.24
42710	<i>pistachios green with skin organic 6x100g</i>	US	6 bags à 100 g in carton	5.79	34.74
40273	<i>pistachios roasted salted in shell organic 250g</i>	US	6 bags à 250 g in carton	6.64	39.84
42905	<i>tigernuts peeled large organic</i>	BF	6 bags à 150 g in carton	2.34	14.04
42448	<i>walnut kernels light organic</i>	MD	6 bags à 250 g in carton	4.09	24.54
41682	<i>walnut kernels light organic 125g</i>	UA	6 bags à 125 g in carton	2.34	14.04
40274	<i>walnut pieces light organic 250g</i>	MD, UA	6 bags à 250 g in carton	3.69	22.14
42642	<i>almonds blanched organic</i>	ES	5 kg in carton	17.19	85.95
42641	<i>almonds brown almost bitter free, organic</i>	ES	5 kg in paper bag	15.24	76.20
48041	<i>apricot kernels sweet organic for producers</i>	PK	5 kg in carton	14.24	71.20
42639	<i>brazil nut kernels medium organic</i>	BO	5 kg in carton	29.89	149.45
40907	<i>cashew kernels 320 organic 5kg</i>	GW	5 kg in carton	15.39	76.95
40343	<i>cashew kernels broken large</i>	BR, VN	5 kg in carton	14.19	70.95
42643	<i>cashew kernels organic</i>	GW	5 kg in carton	14.49	72.45
40905	<i>cashewkernels roasted and salted organic</i>	VN	5 kg in carton	16.49	82.45

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Nuts

40904	<i>cashewkernels roasted salted with chili organic</i>		5 kg in carton	16.99	84.95
42640	<i>hazelnut kernels organic 5kg</i>	TR	5 kg in paper bag	18.31	91.55
42644	<i>macadamia nuts Premium organic</i>	KE	5 kg in carton	30.89	154.45
42903	<i>peanut kernels blanched raw organic</i>	CN	5 kg in carton	5.99	29.95
40175	<i>pecan nut halves organic</i>	US	5 kg in carton	25.89	129.45
48087	<i>pine nuts organic</i>	RU	5 kg in carton	32.49	162.45
40195	<i>pistachios green with skin organic 5kg</i>	TR, US	5 kg in carton	53.54	267.70
40906	<i>pistachios roasted and salted in shell organic</i>	US	5 kg in carton	24.49	122.45
42904	<i>tigernuts brown organic</i>		5 kg in carton	9.59	47.95
48011	<i>tigernuts peeled large organic</i>	BF	5 kg in bag	11.44	57.20
40160	<i>Walnut kernels Light Halves Europe Organic</i>	MD	5 kg in carton	14.32	71.60
42646	<i>walnut kernels light pieces organic</i>	UA	5 kg in carton	12.08	60.40
75045	<i>almonds chopped organic 1kg</i>	ES	1 bag à 1 kg	20.29	20.29
75046	<i>almonds sliced organic 1kg</i>	ES	1 bag à 1 kg	21.09	21.09
72451	<i>brazil nut organic 500g</i>	BO	1 bag à 500 g	17.19	17.19
75051	<i>brazil nut pieces organic 1kg</i>	BO	1 bag à 1 kg	18.09	18.09
75048	<i>hazelnut kernels chopped roasted organic 1kg</i>	TR	1 bag à 1 kg	18.79	18.79
75027	<i>macadamia nuts organic 1kg</i>	KE	1 bag à 1 kg	31.84	31.84
42411	<i>pine nuts organic</i>	RU	1 kg in carton	33.69	33.69
42460	<i>pistachios green 1kg organic</i>	ES	1 kg in bag	58.79	58.79
42671	<i>walnut pieces light organic 1kg</i>	UA	1 bag à 1 kg	16.81	16.81

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Packaging & Others

36000	<i>food moth trap 15 pcs in bundle</i>	DE	15 traps per bundle	0.91	13.65
--------------	--	----	---------------------	------	--------------

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Pulses

20821	beans azuki organic	CN	25 kg in bag	4.54	113.50
20822	beans pinto/berlotti organic	CN, ET	25 kg in bag	4.30	107.50
20819	beans white organic	AR, TR	25 kg in bag	4.77	119.25
20805	chickpeas 7 mm organic	TR	25 kg in bag	3.59	89.75
20438	chickpeas flour organic	TR	25 kg in bag	3.19	79.75
20807	kidney beans organic	CN	25 kg in bag	4.63	115.75
20806	legumes mix organic		25 kg in bag	3.24	81.00
20816	lentils black organic (Beluga)	CA	25 kg in bag	6.70	167.50
20809	lentils brown organic (green, Laird)	TR	25 kg in bag	3.94	98.50
20814	lentils brown organic (red with skin)	TR	25 kg in bag	3.64	91.00
20811	lentils green (marbled) organic	CA	25 kg in bag	5.24	131.00
20810	lentils red organic	TR	25 kg in bag	3.66	91.50
20824	lentils red split organic	TR	25 kg in bag	3.04	76.00
23528	lentils yellow split organic		25 kg in bag	5.04	126.00
20361	lupine flour sweet roasted organic		25 kg in bag	6.96	174.00
20362	lupine grits organic (from sweet lupine)	FR	25 kg in bag	6.79	169.75
20363	lupines white whole organic Germany	DE	25 kg in bag	4.74	118.50
27056	mung beans halves hulled organic (Mung Dal)	UZ	25 kg in bag	5.09	127.25
20813	mung beans organic	UZ	25 kg in bag	4.30	107.50
20803	peas green organic	IT	25 kg in bag	2.99	74.75
20817	soy beans organic		25 kg in bag	2.80	70.00
20610	soy beans organic Europe	RO	25 kg in bag	2.59	64.75
23368	soy flakes organic	AT	25 kg in bag	3.34	83.50
20356	soy flour roasted organic	AT	25 kg in bag	3.75	93.75
20538	soy granulate organic	AT	25 kg in bag	3.09	77.25
20820	white beans jumbo (giant) organic	CN	25 kg in bag	5.99	149.75
23552	pea ptein powder organic		20 kg in bag	10.94	218.80
20823	black turtle beans organic	AR	11.34 kg in bag	3.89	44.11
40248	chickpeas organic	TR	6 bags à 500 g in carton	2.49	14.94
40579	kidney beans organic 6x500g	CN	6 bags à 500 g in carton	3.47	20.82
40245	lentils black organic (Beluga)	CA	6 bags à 500 g in carton	4.09	24.54
40247	lentils brown organic (green, Laird)	TR	6 bags à 500 g in carton	2.99	17.94
40583	lentils brown organic Gourmet (red with skin) 6x500g	TR	6 bags à 500 g in carton	2.59	15.54
40250	lentils green (marbled) organic	CA	6 bags à 500 g in carton	4.14	24.84
40246	red lentils organic	TR	6 bags à 500 g in carton	2.78	16.68
40581	White beans jumbo (giant) organic 6x500g		6 bags à 500 g in carton	3.89	23.34
42668	black turtle beans organic	AR	5 kg in paper bag	4.59	22.95
48006	kidney beans organic	CN	5 kg in paper bag	5.41	27.05
45834	lentils brown organic (red with skin)		5 kg in paper bag	4.59	22.95

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Pulses

48002	<i>lentils green (marbled) organic</i>	CA	5 kg in paper bag	5.52	27.60
40386	<i>mung beans organic 5kg</i>	UZ	5 kg in paper bag	4.84	24.20
48004	<i>peas green organic</i>	IT	5 kg in carton	3.27	16.35
41153	<i>soya granulate organic</i>	AT	5 kg in paper bag	4.04	20.20
48009	<i>White beans jumbo organic</i>		5 kg in paper bag	6.74	33.70

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Seeds

21602	<i>alfalfa (lucerne) organic</i>	FR, IT	25 kg in bag	13.09	327.25
21628	<i>chia seeds black organic</i>	PY, UG	25 kg in bag	6.50	162.50
23557	<i>gold of pleasure organic</i>	AT	25 kg in bag	5.59	139.75
23616	<i>grape seed organic</i>	DE	25 kg in bag	6.94	173.50
21610	<i>hempseed hulled unroasted organic</i>	EE	25 kg in bag	12.54	313.50
21634	<i>hempseed unpeeled unroasted organic</i>	EE	25 kg in bag	5.54	138.50
21613	<i>linseed brown organic</i>	KZ	25 kg in bag	3.04	76.00
21646	<i>linseed brown organic</i>	HU, PL	25 kg in bag	3.14	78.50
21637	<i>linseed golden yellow Europe organic</i>	CZ, PL	25 kg in bag	4.34	108.50
21618	<i>linseed golden yellow organic</i>	KZ	25 kg in bag	4.89	122.25
23224	<i>mustard seed brown organic</i>	IN	25 kg in bag	3.19	79.75
23205	<i>mustard seed yellow organic</i>	DE, IN	25 kg in bag	5.20	130.00
21622	<i>poppy seed blue organic</i>	TR	25 kg in bag	6.79	169.75
21623	<i>poppy seed white organic</i>		25 kg in bag	9.44	236.00
23592	<i>psyllium husk powder organic</i>	IN	25 kg in bag	17.19	429.75
23514	<i>psyllium seeds organic India</i>		25 kg in bag	6.74	168.50
21653	<i>pumpkin seed dark green GWS grade AA organic china</i>	CN	25 kg in bag	7.19	179.75
21604	<i>pumpkin seed shine skin organic China</i>	CN	25 kg in bag	7.29	182.25
21608	<i>pumpkin seeds dark green GWS China organic</i>	CN	25 kg in bag	6.29	157.25
21606	<i>pumpkin seeds dark green organic Europe</i>	AT, PL	25 kg in bag	9.19	229.75
21740	<i>rapeseed for oil organic</i>	FR	25 kg in bag	3.44	86.00
21614	<i>sesame seed natural organic</i>	EG, UG	25 kg in bag	4.34	108.50
25070	<i>sesame seed roasted organic</i>	EG	25 kg in bag	5.44	136.00
21645	<i>sunflower seeds bakery Europe organic</i>	BG	25 kg in bag	3.36	84.00
21650	<i>sunflower seeds confectionary organic Europe</i>	UA	25 kg in bag	3.69	92.25
21748	<i>sunflowerkernels high oleic organic europe</i>	BG	25 kg in bag	3.84	96.00
23521	<i>Whole psyllium husk organic</i>	IN	25 kg in bag	14.25	356.25
25011	<i>milk thistle organic</i>	PL	24.80 kg in bag	8.39	208.07
40262	<i>chia seeds organic 6x500g</i>	BO, UG	6 bags à 500 g in carton	3.99	23.94
40276	<i>hemp seed hulled unroasted organic</i>	EE	6 bags à 200 g in carton	3.43	20.58
40261	<i>linseed (flax seed) brown organic</i>	HU	6 bags à 500 g in carton	2.99	17.94
41409	<i>psyllium seeds organic India 6x500g</i>	IN	6 bags à 500 g in carton	4.84	29.04
41643	<i>pumkin seeds dark green organic 6x500g</i>	CN	6 bags à 500 g in carton	4.99	29.94
41644	<i>pumpkin dark green organic eastern Europe 6x1kg</i>	PL	6 bags à 1 kg in carton	11.49	68.94
41630	<i>pumpkin seeds dark green organic eastern Europe 6x500g</i>	PL	6 bags à 500 g in carton	6.39	38.34
41687	<i>pumpkin seeds dark green organic Europe</i>	PL	6 bags à 200 g in carton	2.84	17.04
41631	<i>pumpkin seeds light green organic China 6x200g</i>	CN	6 bags à 500 g in carton	4.79	28.74
40588	<i>pumpkin seeds light green organic China gardencompostable bag 6x500g</i>	CN	6 bags à 200 g in carton	2.59	15.54

Article No.	Description	Origin	Package	€: Unit	Article
Seeds					
41656	<i>sesame seed black organic</i>	BO	6 bags à 250 g in carton	1.94	11.64
40260	<i>sesame seed unpeeled organic</i>	UG	6 bags à 500 g in carton	4.22	25.32
41625	<i>sunflower seed organic 6x1kg</i>	TR	6 bags à 1 kg in carton	4.84	29.04
40259	<i>sunflower seed organic 6x500g</i>	UA	6 bags à 500 g in carton	2.89	17.34
48056	<i>Whole psyllium husk organic 6x400g</i>	IN	6 bags à 400 g in carton	8.99	53.94
41657	<i>chia seeds black organic</i>	BO, UG	5 kg in carton	7.46	37.30
40877	<i>hempseed hulled unroasted organic 5kg</i>	EE	5 kg in carton	15.29	76.45
40878	<i>hempseed unpeeled unroasted organic 5kg</i>	EE	5 kg in carton	6.94	34.70
40558	<i>linseed brown organic</i>	KZ	5 kg in paper bag	4.53	22.65
41605	<i>poppy seed blue organic</i>	TR	5 kg in paper bag	7.20	36.00
40568	<i>pumpkin seeds dark green organic Europe</i>	PL	5 kg in paper bag	11.25	56.25
41648	<i>sesame seed unpeeled organic</i>	UG	5 kg in paper bag	6.99	34.95
40561	<i>sesame seed white hulled organic</i>	PK	5 kg in paper bag	5.69	28.45
40569	<i>sunflower kernles organic</i>		5 kg in paper bag	4.69	23.45
40146	<i>Whole psyllium husk organic 5kg</i>		5 kg in carton	14.44	72.20
41603	<i>alfalfa organic</i>	FR, IT	1 bag à 1 kg	14.44	14.44
40875	<i>Chia seeds organic 1kg</i>	UG	1 kg in unit	9.64	9.64
40660	<i>mustard seed yellow organic</i>	IN	1 kg in bag	9.20	9.20
71625	<i>sunflower seeds organic 1kg</i>	TR	1 bag à 1 kg	5.94	5.94
76958	<i>Whole psyllium husk organic 400g</i>	IN	1 bag à 400 g	13.24	13.24

Article No.	Description	Origin	Package	€: Unit	Article
Spices and Herbs					
23204	<i>anise whole organic</i>	EG	25 kg in bag	12.14	303.50
23377	<i>bell pepper powder hot organic</i>	ES	25 kg in bag	25.04	626.00
20755	<i>bell pepper powder sweet organic</i>	ES	25 kg in bag	13.99	349.75
23397	<i>bird clover milled organic</i>		25 kg in bag	32.04	801.00
23220	<i>black cumin whole organic</i>	EG	25 kg in bag	7.39	184.75
23209	<i>caraway whole organic</i>	EG	25 kg in bag	7.34	183.50
23450	<i>carrots granules organic</i>	CN	25 kg in carton	10.84	271.00
23238	<i>chili ground medium spicy organic</i>	DE	25 kg in carton	18.89	472.25
23237	<i>coriander ground organic</i>	EG	25 kg in bag	6.89	172.25
23239	<i>cumin ground organic</i>		25 kg in bag	23.09	577.25
20758	<i>cumin seed organic</i>	IN	25 kg in bag	21.19	529.75
23421	<i>fennel milled organic</i>	EG	25 kg in bag	8.39	209.75
23203	<i>fennel whole organic</i>	EG	25 kg in bag	6.84	171.00
23413	<i>fenugreek milled organic</i>	EG	25 kg in bag	5.59	139.75
23387	<i>garlic ground organic</i>	CN	25 kg in carton	9.84	246.00
23559	<i>ginger milled - ginger powder organic</i>	CN, IN	25 kg in bag	10.49	262.25
23453	<i>nutmeg whole organic</i>	LK	25 kg in bag	38.39	959.75
23348	<i>Organic caraway milled</i>	EG, LT	25 kg in bag	7.74	193.50
23415	<i>pepper black milled organic</i>	ID, LK	25 kg in a bag	15.99	399.75
23319	<i>pepper black organic</i>	LK	25 kg in bag	17.14	428.50
25023	<i>pepper white milled organic</i>	LK, VN	25 kg in bag	16.99	424.75
23320	<i>turmeric ground organic</i>	IN	25 kg in bag	7.59	189.75
23636	<i>turmeric ground organic premium min 4,5% curcumin</i>	IN	25 kg in bag	7.99	199.75
20757	<i>rosemary cut organic</i>		22 kg in bag	8.74	192.28
23384	<i>anise milled organic</i>	TR	20 kg in bag	16.04	320.80
23403	<i>cardamom seeds whole without hull organic</i>		20 kg in bag	68.39	1367.80
23376	<i>cardamom with hull milled organic</i>	DE, GT	20 kg in bag	70.99	1419.80
23496	<i>chilli flakes organic (with seeds) chili crushed</i>	DE	20 kg in carton	21.99	439.80
23378	<i>cinnamon milled Ceylon organic</i>	LK	20 kg in bag	12.04	240.80
23411	<i>cinnamon sticks (8-10cm) Ceylon organic</i>	LK	20 kg in carton	32.74	654.80
23410	<i>cloves whole organic</i>	LK	20 kg in carton	23.94	478.80
23208	<i>coriander whole organic</i>		20 kg in bag	7.69	153.80
23639	<i>curry powder organic</i>	DE	20 kg in bag	12.44	248.80
23201	<i>dried crispy onions 4-10 mm organic</i>	EG	20 kg in bag	8.49	169.80
23489	<i>nutmeg milled organic</i>		20 kg in carton	26.99	539.80
23394	<i>stollen spice organic</i>		20 kg in bag	32.59	651.80
22689	<i>juniper berry organic</i>	MK	19.60 kg in carton	17.69	346.72
40752	<i>fenugreek seed whole organic</i>	EG	10 kg in bag	5.69	56.90
23490	<i>lovage cut organic</i>	DE	10.0 kg in bag	27.69	276.90

Article No.	Description	Origin	Package	€: Unit	Article
Spices and Herbs					
23417	<i>marjoram rubbed organic</i>	EG	10 kg in bag	12.99	129.90
23328	<i>Organic oregano rubbed 2-6mm 10kg</i>	GR	10 kg in bag	13.14	131.40
23329	<i>Organic thyme rubbed</i>	EG, TR	10 kg in bag	15.44	154.40
23325	<i>Organic bay leaves</i>	TR	8 kg in carton	24.29	194.32
40290	<i>turmeric ground organic 6x250g</i>	IN	6 bags à 250 g in carton	3.39	20.34
40765	<i>caraway whole organic</i>	LT	5 kg in carton	9.12	45.60
40137	<i>Ground turmeric organic 5kg</i>		5 kg in carton	8.59	42.95
23371	<i>organic fried onions</i>	DE	5 kg in carton	11.44	57.20
40124	<i>pepper black organic</i>	ID	5 kg in carton	17.44	87.20
40139	<i>sweet paprika powder organic</i>	ES	5 kg in carton	15.99	79.95
40601	<i>anise whole organic</i>	EG	1 kg in bag	16.39	16.39
40603	<i>basil rubbed organic</i>	EG	1 kg in bag	11.79	11.79
40615	<i>bay leaves organic</i>	TR	1 kg in bag	31.29	31.29
40643	<i>bell pepper powder hot organic 1kg</i>	ES	1 kg in bag	27.09	27.09
40659	<i>bell pepper powder sweet organic</i>	ES	1 kg in bag	19.59	19.59
40764	<i>bird clover milled organic</i>	DE	1 kg in bag	33.99	33.99
40759	<i>black cumin whole organic</i>	EG	1 kg in bag	10.59	10.59
40717	<i>bread seasoning organic</i>	DE	1 kg in bag	18.99	18.99
40712	<i>caraway milled organic</i>	EG	1 kg in bag	13.72	13.72
40644	<i>caraway whole organic</i>	EG, LT	1 kg in bag	10.09	10.09
40668	<i>cardamom seeds whole without hull organic 1kg</i>		1 kg in bag	70.99	70.99
40671	<i>cardamom with hull milled organic 1kg</i>	DE, GT	1 kg in bag	72.49	72.49
40672	<i>chili ground organic</i>	DE	1 kg in bag	20.74	20.74
20147	<i>chilli flakes organic (with seeds) 1kg chili crushed</i>	DE, ES	1 kg in bag	28.49	28.49
40640	<i>cinnamon milled Cassia organic</i>	ID	1 kg in bag	18.39	18.39
40788	<i>cinnamon milled Ceylon organic</i>	LK	1 kg in bag	17.56	17.56
40663	<i>cinnamon sticks (8-10cm) Ceylon organic</i>	LK	1 kg in bag	39.99	39.99
40623	<i>cloves whole organic</i>		1 kg in bag	28.29	28.29
40656	<i>coriander ground organic</i>	EG	1 kg in bag	12.26	12.26
40613	<i>coriander whole organic 1kg</i>	DE, EG	1 kg in bag	11.34	11.34
40698	<i>cumin ground organic</i>	IN	1 kg in bag	25.69	25.69
40757	<i>cumin seed organic 1kg</i>	IN	1 kg in bag	25.79	25.79
40607	<i>curry powder organic</i>	DE	1 kg in bag	16.34	16.34
40648	<i>dried crispy onions organic</i>	DE, EG	1 kg in bag	9.64	9.64
40697	<i>fennel milled organic</i>	EG	1 kg in bag	10.39	10.39
43003	<i>fennel whole organic 1kg</i>	EG	1 kg in unit	10.27	10.27
43077	<i>fenugreek seed whole organic</i>	EG	1 kg in unit	9.47	9.47
40694	<i>garlic powder organic</i>	CN	1 kg in bag	12.36	12.36
40611	<i>ginger milled - ginger powder organic 1kg</i>	DE, IN	1 kg in bag	11.09	11.09

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Spices and Herbs

40650	<i>gingerbread spice organic</i>	DE	1 kg in bag	39.24	39.24
20768	<i>herb butter spice organic 1kg</i>	DE	1 kg in bag	17.89	17.89
40680	<i>herbs de Provence organic</i>	DE	1 kg in bag	22.44	22.44
40679	<i>herbs for pizza organic 1kg</i>	DE	1 kg in bag	26.99	26.99
40670	<i>juniper berry organic</i>	AL	1 kg in bag	19.69	19.69
40617	<i>marjoram organic</i>	EG	1 kg in bag	15.09	15.09
40673	<i>nutmeg milled organic</i>	LK	1 kg in carton	32.47	32.47
40621	<i>nutmeg whole organic 1kg</i>	LK	1 kg in bag	44.85	44.85
40782	<i>onion ground organic</i>	EG	1 kg in bag	14.99	14.99
40625	<i>oregano organic</i>	GR	1 kg in bag	18.68	18.68
42907	<i>organic fried onions</i>	NL	1 kg in bag	13.19	13.19
40627	<i>parsley rubbed organic</i>	DE	1 kg in bag	25.99	25.99
40631	<i>pepper black milled organic</i>	ID	1 kg in carton	19.90	19.90
40629	<i>pepper black whole organic</i>	VN	1 kg in bag	17.69	17.69
40662	<i>pepper white milled organic</i>	LK, VN	1 kg in bag	22.08	22.08
40661	<i>pepper white whole organic</i>	LK	1 kg in bag	26.99	26.99
40635	<i>rosemary cut organic 1kg</i>		1 kg in bag	13.14	13.14
40748	<i>speculoos spice organic</i>	DE	1 kg in bag	27.79	27.79
40738	<i>stollen spice organic</i>	DE	1 kg in bag	35.09	35.09
40637	<i>thyme organic</i>	TR	1 kg in bag	21.09	21.09
40737	<i>turmeric ground organic 1kg</i>		1 kg in bag	10.09	10.09
48046	<i>vanilla Bourbon milled organic</i>	MG	1 kg in bag	269.00	269.00
45839	<i>vanilla pod Bourbon organic</i>	MG	1 bag à 100 g	36.99	36.99

Article No.	Description	Origin	Package	€: Unit	Article
Spreads					
20119	apricot fruit jam organic 12, 5kg bucket	DE	12.50 kg in bucket	6.34	79.25
21215	almond butter white organic 10kg	ES	10 kg in bucket	27.04	270.40
21210	almond mash brown 10KG	ES1	10 kg in bucket	25.54	255.40
21212	cashew mash organic 10kg	ES, VN	10 kg in bucket	18.49	184.90
21211	peanut butter fine organic 100% peanut	CN	10 kg in bucket	11.04	110.40
21213	peanut butter with pieces organic	NL	10 kg in bucket	11.29	112.90
21209	sesame paste organic 100% sesame	ES	10 kg in bucket	10.49	104.90
20611	Samba hazelnut-chocolate spread organic	DE	8 kg in bucket	17.69	141.52
21202	almond butter white organic	NL	6 glasses à 250 g in carton	7.04	42.24
21206	almond puree brown organic	NL	6 glasses à 250 g in carton	6.79	40.74
20788	Arrabito (Arrabiata-tomato) spread organic	DE	6 glasses à 160 g in carton	2.64	15.84
20833	aubergine spread organic	DE	6 glasses à 180 g in carton	2.59	15.54
21214	cashew nut butter organic	NL	6 glasses à 250 g in carton	6.39	38.34
20188	chive spread organic	DE	6 glasses à 180 g in carton	2.59	15.54
20854	Cornflower honey creamy organic Bioland Germany Blütenmeer Imkerei 6x500g	DE	6 glasses à 500 g in carton	7.94	47.64
20200	curry spread organic	DE	6 glasses à 180 g in carton	2.59	15.54
20277	Fruchtgarten raspberry with agave organic Zwergenwiese 6x225g	DE	6 glasses à 225 g in carton	3.29	19.74
20275	Fruchtgarten strawberry with a gave organic Zwergenwiese 6x22 5g	DE	6 glasses à 225 g in carton	3.04	18.24
20199	herbs-tomato spread organic	DE	6 glasses à 180 g in carton	2.59	15.54
20293	olive spread organic	DE	6 glasses à 180 g in carton	2.59	15.54
21201	peanut butter fine organic 100% peanut	NL	6 glasses à 250 g in carton	4.14	24.84
21205	peanut butter with salt organic	NL	6 glasses à 250 g in carton	3.39	20.34
20239	pepper-chilli spread organic	DE	6 glasses à 180 g in carton	2.54	15.24
20233	rocket-tomato spread organic	DE	6 glasses à 180 g in carton	2.54	15.24
21203	sesame butter (Tahin) organic 100% sesame	NL	6 glasses à 250 g in carton	4.04	24.24
20197	spread 4-pepper organic	DE	6 glasses à 180 g in carton	2.59	15.54
20272	spread horseradish-beatroot organic	DE	6 glasses à 180 g in carton	2.59	15.54

Article No.	Description	Origin	Package	€: Unit	Article
Spreads					
20182	spread onion like lard organic	DE	6 glasses à 150 g in carton	3.09	18.54
20201	spread with basil organic	DE	6 glasses à 180 g in carton	2.59	15.54
20195	spread with bear's garlic organic	DE	6 glasses à 180 g in carton	2.59	15.54
20189	spread with bell pepper organic	DE	6 glasses à 180 g in carton	2.59	15.54
20853	Spring blossom honey creamy organic Bioland Germany Blütenmeer Imkerei 6x500g	DE	6 glasses à 500 g in carton	6.79	40.74
20778	Streichs drauf- Basitom (basil -tomato) organic Zwergenwiese 6x160g		6 glasses à 135 g in carton	2.64	15.84
20779	Streichs drauf- Bruschesto (br ushetto-pesto) organic Zwergen wiese 6x160g	DE	6 glasses à 160 g in carton	2.64	15.84
20780	Streichs drauf- Mepfel (horser adish-apple) organic Zwergenwiese 6x160g	DE	6 glasses à 160 g in carton	2.59	15.54
20787	Streichs drauf- Papayango (spi cy Papaya-mango) organic Zwergenwiese 6x160g	DE	6 glasses à 160 g in carton	2.64	15.84
20781	Streichs drauf- Papucchini (pa prika-courgette) organic Zwergenwiese 6x160g	DE	6 glasses à 160 g in carton	2.64	15.84
20782	Streichs drauf- Sendi (mustard -dill) organic Zwergenwiese 6x 160g	DE	6 glasses à 160 g in carton	2.64	15.84
20735	summer blossom honey creamy organic Bioland Germany Blütenmeer Imkerei 6x500g	DE	6 glasses à 500 g in carton	6.74	40.44
20213	tomato children spread organic	DE	6 glasses à 180 g in carton	2.54	15.24
20294	tomato spread organic	DE	6 glasses à 180 g in carton	2.59	15.54
20783	Tomesan (tomato-parmesan) spread organic	DE	6 glasses à 160 g in carton	2.64	15.84
20105	apricot jam organic 3kg bucket	DE	3 kg in bucket	7.19	21.57
20110	forest fruit jam organic Maintal 3kg bucket	DE	3 kg in bucket	7.59	22.77
20107	fruit preparation wild cranberry organic Maintal 3kg	DE	3 kg in bucket	8.19	24.57
20128	jam red currants strained organic 3kg Maintal	DE	3 kg in bucket	6.84	20.52
22264	multifruit jam organic Maintal 3kg bucket	DE	3 kg in bucket	7.14	21.42
20194	plum mash organic Maintal 3kg	DE	3 kg in bucket	9.97	29.91
20109	raspberry jam organic 3kg bucket	DE	3 kg in bucket	8.84	26.52
20112	rosehip fruit jam organic 3kg bucket	DE	3 kg in bucket	6.64	19.92
20108	sour cherry jam organic Maintal 3kg bucket	DE	3 kg in bucket	7.39	22.17
20106	strawberry jam organic 3kg bucket	DE	3 kg in bucket	7.79	23.37
70742	Linden honey creamy organic Bioland Germany Blütenmeer Imkerei 500g		1 glass à 500 g	8.09	8.09
70740	rape honey creamy organic Bioland Germany Blütenmeer Imkerei 500g	DE	1 glass à 500 g	7.09	7.09

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Spreads

70853	<i>Spring blossom honey creamy organic Bioland Germany Blütenmeer Imkerei 500g</i>	DE	1 glass à 500 g	7.04	7.04
70735	<i>summer blossom honey creamy organic Bioland Germany Blütenmeer Imkerei 500g</i>	DE	1 glass à 500 g	7.09	7.09

Article No.	Description	Origin	Package	€: Unit	Article
Sweetener					
22118	agave syrup raw organic Mexico		25.50 kg in bucket	5.54	141.27
22011	agave syrup yellow organic	MX	25.50 kg in bucket	5.29	134.90
22056	beet sugar organic	DE	25 kg in bag	2.79	69.75
20726	blossom honey Europe organic	RO	25 kg in bucket	8.69	217.25
22003	cane sugar conv.	DE	25 kg in bag	2.62	65.50
22004	cane sugar white organic	CO	25 kg in bag	2.88	72.00
25015	coarse sugar organic	DE	25 kg in bag	5.89	147.25
22013	coconut blossom sugar organic	ID	25 kg in carton	6.79	169.75
22006	Gelling sugar (2:1) organic with pectin, jam sugar	DE	25 kg in bag	3.44	86.00
20327	icing sugar made of raw cane sugar organic	NL	25 kg in bag	3.95	98.75
22005	raw cane sugar Demerara organic	PY	25 kg in bag	3.22	80.50
22100	raw cane sugar organic	CO	25 kg in bag	3.09	77.25
22094	rice syrup organic	PK	25 kg in bucket	4.89	122.25
22046	sugar raw cane fair trade organic	CR, MZ	25 kg in bag	3.04	76.00
22010	whole cane sugar organic	EC	25 kg in bag	4.30	107.50
20720	honey baking quality organic	CN	12.50 kg in bucket	4.99	62.38
22009	sugar beet syrup organic	DE	12.50 kg in bucket	5.79	72.38
42019	agave syrup organic 12x450g		12 glasses à 450 g in carton	4.49	53.88
22001	maple syrup organic grade A 12x250ml	CA	12 bottles à 250 ml in carton	6.74	80.88
22130	glucose syrup organic	CZ	11 kg in bucket	3.54	38.94
25007	Date sugar (date powder) organic	PK, TN	10 kg in carton	8.10	81.00
20727	molasses made of cane sugar organic	PY	7 kg in bucket	3.15	22.05
41407	coconut blossom sugar organic gardencompostable bag 6x800g	ID	6 bags à 800 g in carton	7.04	42.24
41406	Date sugar organic gardenconpostable bag 6x800g	TN	6 bags à 800 g in carton	11.12	66.72
42007	raw cane sugar organic 6x1kg	CO	6 bags à 1 kg in carton	3.59	21.54
42008	unrefined cane sugar organic 6x500g	EC	6 bags à 500 g in carton	3.14	18.84
41217	agave syrup yellow organic	MX	5 kg in bucket	6.94	34.70
20722	honey baking quality organic 5kg	CN	5 kg in bucket	6.94	34.70
40376	organic coarse sugar	BE, DE	5 kg in paper bag	6.69	33.45
42010	agave syrup organic		2 kg in glass	10.36	20.72
71407	coconut blossom sugar organic gardencompostable bag 800g	ID	1 bag à 800 g	8.89	8.89
71406	Date sugar organic gardenconpostable bag 800g	TN	1 bag à 800 g	12.15	12.15
22012	maple syrup organic	CA, DE	1 canister à 5.28 kg	89.99	89.99
72007	Organic cane sugar	CO	1 bag à 1 kg	4.59	4.59

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Sweets & Snacks

22142	fruit bar blueberry organic	DE	25 bars à 30 g in carton	1.29	32.25
22145	fruit bar passionfruit glutenfree Lubs organic 25x30g	DE	25 bars à 30 g in carton	1.19	29.75
21977	fruit bar almond-vanilla glutenfree Lubs organic 25x40g	DE	24 bars à 40 g in carton	1.14	27.36
23511	fruit bar cashew-dates raw glutenfree organic 24x47g	DE	24 bars à 40 g in carton	1.44	34.56
22185	chocolate bar dark nougat Vivani organic	DE	18 bars à 35 g in carton	1.24	22.32
22187	chocolate bar white nougat crisp with ricedrink Vivani organic	DE	18 bars à 35 g in carton	1.19	21.42
29159	Mini Pretzels Spelt organic 12,5kg Bag in Box	DE	12.50 kg in bag in box	10.25	128.13
21399	protein power snack organic		12.50 kg in bag	13.49	168.63
20859	Almonds in tomato and herbs roasted organic	AT	10 kg in carton	28.39	283.90
20839	Almonds roasted in dark chocolate organic vegan	AT	10 kg in carton	25.09	250.90
20860	Blueberries, raspberries and strawberry pieces in triple chocolate organic	AT	10 kg in carton	28.64	286.40
21978	chocolate bar dark 85% cacao Vivani organic	DE	10 bars à 100 g in carton	2.74	27.40
23292	chocolate bar dark 92% cacao Vivani organic	DE	10 bars à 80 g in carton	2.64	26.40
21961	chocolate bar milk Vivani organic	DE	10 bars à 100 g in carton	2.39	23.90
25095	Dark chocolate bar 100% cocoa + nibs vegan organic Vivani 10x80g	DE	10 bars à 80 g in carton	2.74	27.40
20852	Hazelnuts roasted in milk chocolate organic	AT	10 kg in carton	21.74	217.40
21962	milk chocolate bar with whole hazelnuts Vivani organic	DE	10 bars à 100 g in carton	2.39	23.90
21955	peanut-fruit mix coated with chocolate organic	DE	10 kg in carton	16.04	160.40
20837	Raspberries in dark chocolate organic vegan	AT	10 kg in carton	29.19	291.90
20838	Soy snack spicy roasted organic	AT	10 kg in carton	12.54	125.40
20851	Strawberries in dark chocolate organic vegan		10 kg in carton	28.74	287.40
25025	vanilla cashews - cashewkernels roasted slightly sweetened with vanilla organic 10kg	DE	10 kg in carton	16.29	162.90
20836	hemp chocolate bisquit with spelt maca root organic	DE	6 kg in bucket	16.99	101.94
20849	spelt olives snack with herbs of provence organic organic	DE	6 kg in bucket	16.49	98.94
20932	chocolate hazelnut cookies organic I EU-Organic, popular taste remains	DE	5.50 kg in bucket	14.49	79.70
40226	Almonds roasted in dark chocolate organic vegan 5kg	AT	5 kg in carton	26.14	130.70
40225	Blueberries, raspberries and strawberry pieces in triple chocolate organic 5kg	AT	5 kg in carton	30.04	150.20
40488	Chocolate drops dark large for snacking & baking organic 5kg	BE	5 kg in carton	32.04	160.20
21944	Cola-Bottles organic 5kg	DE	5 kg in carton	13.74	68.70
25091	espressobean coated with chocolate organic	NL	5 kg in carton	27.24	136.20
48081	espressobean coated with chocolate organic	NL	5 kg in carton	21.99	109.95
40156	peanut-fruit mix coated with chocolate organic 5kg	DE	5 kg in carton	17.84	89.20
40223	Raspberries in dark chocolate organic vegan 5kg	AT	5 kg in carton	31.39	156.95
40222	Soy snack spicy roasted organic	AT	5 kg in carton	13.14	65.70

Article No.	Description	Origin	Package	€: Unit	Article
-------------	-------------	--------	---------	---------	---------

Sweets & Snacks

40224	<i>Strawberries in dark chocolate organic vegan</i>	AT	5 kg in carton	29.29	146.45
21949	<i>sultanas covered with dark chocolate organic</i>		5 kg in carton	21.24	106.20
22191	<i>veggie berry mix - fruit gummy with corn starch</i>		5 kg in carton	14.59	72.95
22189	<i>veggie-hearts - fruit gummy with corn starch organic</i>	DE	5 kg in carton	14.29	71.45
22190	<i>veggie-vine-gums - fruit gummy with corn starch</i>	DE	5 kg in carton	14.49	72.45
21947	<i>banana chips coated with white chocolate organic</i>	NL	4 kg in carton	22.49	89.96
22192	<i>liquorice rolls organic</i>	DE	4 kg in carton	14.19	56.76
20835	<i>Pane picco sesame-black cumin from spelt organic</i>	DE	4 kg in bucket	14.19	56.76
21511	<i>Breakfast biscuit organic gluten free vegan</i>	BE	3 kg in carton	23.99	71.97
21393	<i>lemon biscuit organic gluten free</i>	BE	3 kg in carton	23.49	70.47
21409	<i>Salty chocolate cookies organic gluten free bulk</i>	BE	3 kg in carton	25.69	77.07
22042	<i>yoghurt gums organic</i>	DE	3 kg in carton	15.24	45.72
22041	<i>gummy bears without gelatine organic</i>	DE	2.50 kg in carton	14.59	36.48
22043	<i>jelly-mix "sour" organic</i>	DE	2.50 kg in carton	14.29	35.73
75052	<i>berry trio in chocolate organic 500g</i>	AT	1 bag à 500 g	16.54	16.54
75025	<i>vanilla cashews - cashewkernels roasted slightly sweetened with vanilla organic 500g</i>	DE	1 bag à 500 g	12.14	12.14